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All questions are compulsory
Choose the correct answer
Q1. Which one of the following typgof resource are minerals?
a. Renewable %{)n-renewable c. Biotic d. Flow
o1 fafafera & & w7 a7 wwraw afas §2
WIEC e R (R pieauip i | el
Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made “Abiotic d. None of the above
b. Q20 #T ot #r ey aoft & v S w1t 82
c. UlReplenishable ™ 97 Afda =1 ufernfes <1 w99 7 ¢ fF 781

Q3. What is the main cause of Land Dggradation in Jharkhand?

a. Over Irrigation " Mining c¢. Deforestation d. Overgrazing
b. Q3| @T@ET & qfH g &1 Y&q F190 F7 §2
c. moaET sfaeE A maa o oaat frwer =g

Q4. What Percentage of our land should be under foresy
a.22.5% b. 31% 33% d. 30%

Q4 ST % AT AT e # widers fraET 2T =R
a.225% bl 31% #133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d gadhya Pradesh

71 51 Frafafera § & B oo # f=rd f=rd aft F arie ¥ o Seee 78 22
T OIS bl gRATT ¢l SET TR dl WET TR9T

Q6. Which of the following is not a biotic resource?

a. Flora b #Kocks c. Fauna d. Fisheries

061 fraferfee ® & #i= =7 v S qara 781 22



Tl WART bl FETET H| BT AT TTAT

Q7. The most abundantly available fossil fuel is-

a gl oal b. Petroleum c. Natural Gas d. None of the above

F 7\ g9 ATAF ITAY SArATIH T 2-
T BT bl YErferw #n wrEE ) T ot T

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax Vme

w7 81 X AT TErferaw #7 7 Feurg TE &2
T ATA bl FART ¢l F9 dI T2

Q9. Which one is not a non-conventional source of Energy?
agloal b. Solar energy c. Wind Energy d. Tidal Energy

o7 91 FXT AT Fort 1 U {7-qriafvs w5 a8 22
T FTAT bl ®IT FAT ¢l Ta9 FoAT  d| FATHT FAT

Q10. Which one is not a cause of Air Pollution?
a. Paper factories b. Brick Kilns c. Refineries ¢ extile Industries

w41 101 T AT U AT T HT HFTOT AL §2
| TS wrvary i fz agt o fereadis o wwEr I

Q11. Which one is a cause of Thermal pollution?
a. Dust . ot water ¢. Smoke d. Fossil Fuel

W 111 THE T FT UF FTL0T AT AT E2
T g # o T ol gat di SstrETeR fue

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure %T aundice

Q121 fAer ® & &I+ AT T 91T TZA F FTI07 T2 82
T g7 2 AT & FF 37 g% T o) 52 g7 d) ffeEr

Q13. Which of the following is not provided by forest?

a. Medicines b gFood grains c. Wood d. Gum



b. w131 FRefeeT & 7 #r9 S g1 weTT 981 By Smar 22
c. TIZATT bl GTEATT cl AFIT dI T

Q14. Which of the following is not a source of Fresh water?

¢ Sea b. River c. Lake d. Pond
b. w7 14| FeferfEs & & 19 97 a1 T # = T2l 82
c. T AW 740 cl = dI qreme

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere %Siosphere

b. Q 15. & FT THAT FTA ATAT FAAT &
c. m el bl SEHEA ol argEEA d) fterfEws

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide %hloroﬂuorocarbon c. Nitrogen d. Hydrogen
b. T 16| AT T9d F Tae g & foro et § 7 #1 #f d Semae 22
c. T HET TEAFETT AT FATFEAEES ol ATgarad  dl grEgree

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec \/5“‘ June d. 5th July

b. W 171 freg wataor fFawm g arer e B wemar smar g
c. T 11 JATE bl 10 fFFET ¢559F £ 5 Jeme

Q18. When and where “Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 v‘ﬂ(io de Janeiro, 1992 d. New
Delhi,2002

b. T 18| And T "Wz 'Fa 3T Ft smariora BT e
c. W I, 1972 ot w=iwerw, 1978 #t for § swfar, 1992 & 7 faeft, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
a. Wogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 191 Fi=grsa wara # Fr & #1 F1E AT T2 22
c. T ATEEST bl FTET STEAFATES o7 F99T  dI F030

Q20. Which of the following is used to purify water?



V Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w1 201 Faferf@Ea & & Frsr ST ot #1 gz F94 % oo G smar g
c. U FATEA 7| AHITAAT | EIESMA 31| AoFT STEAFITES

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge wecibel d. Megawatt

wo1 211 saf= ggwer = v F o el & & G s G smar @i
A. ®ew dhas d@ e g e

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 ¢. 2001 9/2006

b. 9o 221 ZAT¢ 291 § BT At ardir wataer e i aroo & T oy o
c. ™ 1986 & 1992 #T1 2001 d| 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 «2()]4 d. 2015

b. Q23| WY AT | TTEIA AT UTAT TAHF (AQI) Faer A o= A arar a2
c. ™ 2001 4112011 #2014 d1 2015

Q24. In which year Environment Protection Act was enacted?
a. 1956 Vf986 c. 2010 d. 2015

b. Q24| watawr sverr sffars B ad & @y B o aro
c. T 1956 11 1986 #2010 dl 2015

Q25. Air pollution affects which system of human body the most?

Digestive System ¢Respiratory System ¢, Nervous System  d. Reproductive System Q25|
Q.25 AT wEur AT o7 Fir G yoreft #ir wartEa wvar 82
T TS @ bl F8 Toret  #7| dEwr = d) wores yorrer

d.
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Q1. Which one of the following type of res

a. Renewable ) newable c. Biotic d. Flow

ol Fwffeg & o= T Gl 82
T| AT GIISIEE NG E

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made w d. None of the above

b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Ul Replenishable ™| #°a A =T ufafes <1 =77 & #re ofF 781

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining c. Deforestation d. Overgrazing
b. Q3| AREE H 7 FTH AT TE&T FHTL FIT § 2
c. T AET e S foaT R = d e

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% c. 33% d. 30%

Q4| SRTA & == gATET I F7 wiaerd =T gram ?
a.225% bl31% ¥ 33% @l 30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

77 5| Raferfaa & & for wsg ° = f=e = * ISR AR FA R
T 9T bl ERATAT ¢l SAT Y= dl

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
a. Coal b. Petroleum c¢. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5" June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c. Rio de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 c. 2014 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986 c. 2010 d. 2015

b. Q24| waiaxey g0 stafaaw o v § ary o e
c. T 1956 11 1986 #T1 2010 dI 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.
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Q1. Which one of the following type of resource are minerals?

a. Renewable b. Non-reyble c. Biotic d. Flow
01| fFferfea ® & = |71 "9 gfbs &

Tl AT & -SSR0 || A9 dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic d. None e above

b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable | AT™a Af¥q & ufedifcs T =99 T s
o

83. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Minin c. Deforestation d. Overgrazing

b. Q3| AEE ¥ 7 g9 1 & ;
c. T AET A N '@ H T FE dl TS

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of th wing states Over Irrigation is not responsible for Land Degradation?
b. Haryana ¢. Uttar Pradesh d. Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl gRATIT ¢l ST TR dl LT T4

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c. Fauna d. Figikries

061 Frmrferfr & & Fi A o S w8 3



Tl FART bl Tl " BT | HFAT Tl

Q7. The most abundantly available fossil fuel is-
a. f b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T| HIAT bl TSrierm® Y| ITHAS® T8 dl 299 | Fr2 ff 981

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

a. Coal < b. Solar energy c. Wind Energy d. Tidal Energy
727 9| %mmm@ﬁ-wmsﬁﬁﬁé?

T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pol

a. Paper factories ck Kilns c. Refineries d. Textile Industries

57 101 T 7 T a1 T M FH107 981 52
T| FOS FETE &7l S 9gf ¢l RwrEads ) #9271 33

a. Dust c. Smoke d. Fossil Fuel

ToF 111 THA TZHIT KT T F107 i €7 22
T g A TH A el g3 dI SETed S

Q12. Which of the following disease is not caused by Noise Pollution?

Pressure d. Jaundice
o

a. Hearing Impairment b. Increased Heart Rate  c. Bl

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T\ 9o 29 &7 G FF 3T 98 STET el 592 G d| fierr

Q13. Which of the followinggs not provided by forest?

a. Medici b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. W EAU bl GETT cl dFst dI 0

Q14. Which of the following is not a source of Fresh water?

a. Sea b. River c.L d. Pond
b. T 14\ Feforted & & #19 |7 a1 a1 7 &
c. AR T\ 740 cl e dI e
Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Bi ere

b. Q 15. & FT GHAT FIA ATAT A &
c. Tl TIEEAT bl TAHSA ¢l ATIHEA dl FEATERT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlo carbon c. Nitrogen d. Hydrogen
b. T 161 AT 92q & Tl Faferfea § & a9 off 99 S g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every y,
a. 11" July b. 10" Dec c. 5Ufflne d. 5th July

b. T 171 frsa watawor faaw g7 ara o fae =
c. TSR bl 10 REaT c.597 N 5 a2

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c. Rio de

Delhi,2002

b. T 181 And 1 TH " 3T gt Arariora har T
c. W, 1972 ff w=iwgm, 1978 @ far Srsmfar, 1992 € wE fawstt, 2002

eiro, 1992 d. New

Q19. Which of the gases does not have any contribution to ‘Gr ouse effect’?

a. Nitrogen b. Carbon Dioxide . AFthane d. Chlorofluorocarbons

b. 0191 AT TATT § o T &1 HIT ATETH
c. T ATEENT bl FTa STeaiFarze o1 Ha=

Q20. Which of the following is used to purify water?



a. orine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 90 3 % for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge c. Decibel d. Me

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 d. 2006

b. ¥ 221 0T 397 § FoFey a g F = iy T off 2
c. T 1986 &1 1992 =Tl 2001 diI 20

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 c. 2014 d. 2015
GEEEE———
b. 0231 ZHTL 91 & TEIA AT UG TAHIF (AQT) %&raﬁfej&ﬁmwg?

c. T 2001 =71 2011 #2014 dy

Q24. In which year Environment Protection Act was enacted?

a. 1956 86 c. 2010 d. 2015

b. 24| TATET § afarfaaw o a9 § g BT = o2
c. T 1956 11 1986 #T1 2010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Resftatory System  c. Nervous System  d. Reproductive System Q25|
Q.25 AT TEU AT ol T TR TOTTeAT i TTed Far g2
T 99§ bl T899 EUIEEIRE RS IR EEE ALl
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx
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Choose the correct answer
Q1. Which one of the following type of resource are minerals?

a. Renewable b. Non-renewable c. Biotic d. Flow

c—
o1 Aot & & = |7 "97em @b g2
Tl AT S| IR-AA RO " SAfEaE dl 9

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic d. None of the above
: c——————>

b. Q21 T HAAT & e Foff § T&T ST TehclT 82

c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining c. Deforestation d. Overgrazing
b. O BTH T q&T FIT F47 82
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

ﬂ5|ﬁﬁﬁ%ﬁﬁﬁﬁmmﬁﬁaﬁﬁaﬁ{%%m%%ﬂz%ﬁé?
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource?

a. Flora b. Rocks c. Fauna d. Fisheries
G

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
a. Coal b. Petroleum c¢. Natural Gas d. None of the above
b

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82 —
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy d. Tidal Energy
L T

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T| FES F@E &7 32 98l ¢l mreadst 2 #9732

Q11. Which one is a cause of Thermal pollution?
a. Dust b. Hot water . Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82

Tl g AT TH AT ¢l g3 dl Sarew ga+q

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum
e —



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. UITETT bl @TETH cl dFHst dI T80

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d. Pond

P
b. W 14| Fwferfaa & & #3190 97 aro7 Tt #7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosphere

b. O 15. &% FT qHAT FIH FTAT A7 2 Sa—
c. U forEEfET bl TEHEA ol argHed dI St

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen

P
b. T 161 ST 93d & Tdo g & oy [Faferfad & & #i9 f | SrAer g2

c. Ul Fad SIS &1 FARNFARRET ¢l ATSESA  dl TS e

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5" June d. 5th July
——®

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=

Q18. When and where ‘Earth Summit’ was held?
a. Tokyo, 1972 b. Stockholm, 1978 c. Rio de Janeiro, 1992 d. New

Delhi,2002 #

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEAr, 1972 Y wiwgw, 1978 T R frsmfar, 1992 @ =2 faedt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 fETSH T9TT § 3 77 7 1 TRETH 751 g2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide
S

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel d. Megawatt
o

o7 211 gt ygur &7 w4 foro fRerferfra & & frasr v B Smar 82
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 d. 2006
E—

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 c. 2014 d. 2015

. -IIF..-’
b. 0231 ZHTL Z97 | LI AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 112014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986 c. 2010 d. 2015
—_——

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 111986 #TI 2010 dI 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25

Q.25 3T T A AT FdT 52
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx
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oINS -

Department of Economics

Mid-Semester Kna Ex ™\ 2 . N h
Semester-VI C: u:mtarcnls e a
Time: 45 minutes °
All questions are compulsory S I n g h

Choose the correct answer

Q1. Which one of the following type of resource are minerals?

a. Renewable Mrenewable c. Biotic d. Flow

i ROINO =229
Tl AT & -SSR0 || A9 dl 98 p—

Q2. Solar energy can be put in which category?

a. Replenishable b. pman Made c. Abiotic d. None of the above
b. Q21 T HAAT & e Foff § 7@ ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining %forestation d. Overgrazing
b. 031 \@EE | A ZTH T q&T FHTL0T T 32
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% c. A5% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd fhaar gem AT ?
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?

a. Py#ab b. Haryana ¢. Uttar Pradesh d. Madhya Pradesh
F7 51 fawrferfera & & e Trs7 | = =g i & arire % forg e ==t 22

T 9T bl gRATIT ¢l ST TR dl LT T4
Q6. Which of the following is not a biotic resource?

a. Flora Wks c. Fauna d. Fisheries
06| FFeferfed # & %= a1 v Sfas J91e+ 951 62



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
yal b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax %
T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82

Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
a. C‘)ﬂ' b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns cgRefineries d. Textile Industries
=7 101 T T T AT TEUU AT FHILT T51 52

T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139
Q11. Which one is a cause of Thermal pollution?

a. Dust Aot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure aundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T 307 W &1 3 T 32 98 ST ¢l s Y97 di e

Q13. Which of the following is not provided by forest?

y/\edicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?

a. Sea b. River c. Lake /ond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:

a. Lithosphere b. Hydrosphere c. Aymosphere %sphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide Mlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 S 9%d & Tqel g+ oy [_Aefertera & & &= |7 9 [reee g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec y June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 C. de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
a. Nitrogen b. Carbon Dioxide c. Methane yﬂoroﬂuorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d)(phur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A_gleter b. Gauge c. Decibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

a. 1986 b. 1992 c. 2001 6

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q22. In which year National Environment Policy was announceid)?ur country?
00

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 c. 2014 W‘S

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 w86 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reprg#lctive System Q25|
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx



Aayushi kumari

roll no. 14 GURU NANAK COLLEGE, DHANBAD
university roll no. 300 pepartment of Economics

sem 6 Mid-Semester Internal Examination: 2020

eco hons Semester-VI CC: XIV-Environmental Economics

Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable b. Non-renewable yiotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable —hﬂﬂnan Made c. Abiotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation Wning c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% \133% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh _dsMadhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotig resource?
a. Flora iy’ 5ocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
/./Coal b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jlte

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

a—ﬁ b. Solar energy c. Wind Energy d. Tidal Energy
T5F Q1 I T SoTT T U AL-ITAT ST A8l g2

T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries .)%extile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139

Q11. Which one is a cause of Therylution?
a. Dust ot water . Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure . Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not providgé by forest?
a. Medicines ood grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
/ Sea b. River c. Lake d. Pond

b. W 14| Fwferfaa & & F19 97 aro7 9Tt #7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere iosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide Mhlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec _)Aune d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 io de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



A)rine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge c. DgCibel d. Megawatt

o7 211 gt ygur &7 w4 foro fRerferfra & & frasr v B Smar 82
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 (J@OG

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 ﬁom d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?
a. 1956 %86 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System (ﬁervous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx



GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewaﬂe b. Non-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Repleniaable b. Human Made c. Abiotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Minind® c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% @ b. 31% c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource? o
a. Flora b. Rocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
a. Coal b. Petroleum c¢. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosen? c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar enerd® c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factw’es b. Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139

Q11. Which one is a cause of Thermal pollution?
a. Dust b. Hot water c. Smokg d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Prewre d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d.Pond @

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is: PS
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrggen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5" Juig@ d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Toky(,,1972 b. Stockholm, 1978 c. Rio de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Meth@e d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel d. Megaw&

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Hex @I "@ EEd ) wmEre

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1980 c. 2001 d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 200 b. 2011 c. 2014 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986 C. 2&0 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx



GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics

Md. Mohsin Raza Ansari

All questions are compulsory I
Choose the correct answer r0||348(ECO hon S)Sem 6
Q1. Which one of the following type of resource are minerals?

a. Renewable W-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
Tl AT & -SSR0 || A9 dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
M| Replenishable S Aa Affa @ ufaates & a0 o £ oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation Wining c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% \V?B% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana ¢. Uttar Pradesh Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl gRATIT ¢l ST TR dl LT T4

Q6. Which of the following is not a biotic resource?
a. Flora Mocks c. Fauna d. Fisheries
06| FFeferfed # & %= a1 v Sfas J91e+ 951 62



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
Mal b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax Me

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
Mal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries \dwe Industries
=7 101 T T T AT TEUU AT FHILT T51 52

T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139
Q11. Which one is a cause of Thermal pollution?

a. Dust \b/ﬂﬁ water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure Mndice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T 307 W &1 3 T 32 98 ST ¢l s Y97 di e

Q13. Which of the following is not provided by forest?

a. Medicines \kygrains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?

\%ea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:

a. Lithosphere b. Hydrosphere c¢. Atmosphere Mphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?
a. Carbon Dioxide \bjﬁorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 S 9%d & Tqel g+ oy [_Aefertera & & &= |7 9 [reee g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec \%”‘ June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 M} de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
y\litrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



J Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge yDecibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 J2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 2014 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?
a. 1956 Ws1986 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  qg#Respiratory System  c. Nervous System  d. Reproductive System Q25|
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?

a. Renewable b. Non-renewable  c. Biotic M

o1 Aot & & = |7 "97em @b g2
Tl AT S| IR-AA RO " SAfEaE dl 9

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
Wenishable 51 W AT |1 ufaates S AW g @ e o a8l

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining c. Deforestation d. Overgrazing
b. Q3| AREE H I FTH AT TE&T FHTI F4T § 2
Wﬁ M aaT @ Fa A T Qs

Q4. What Percentage of our land should be under forest?

a.22.5% W c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b.H c. Uttar Pradesh d. Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie  fow Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource?

a. Flora W c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
% b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax / d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

a. Coal bw c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. M c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T| FES F@E &7 32 98l ¢l mreadst 2 #9732

Q11. Which one is a cause of Thermal pollution?

a. Dust b c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
Tl g AT TH AT ¢l g3 dl Sarew ga+q

Q12. Which of the following disease isyd by Noise Pollution?
a. Hearing Impairment b. In€ieased Heart Rate  c. Blood Pressure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. Mediw’ b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a syresh water?
a. Sea FRiver c. Lake d. Pond

b. W 14| Fwferfaa & & F19 97 aro7 9Tt #7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:

a. Lithosphere b. Hydrosphere c. Atmoﬁere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is rwmr thinning of ozone layer?

a. Carbon Dioxide b. ofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?

a. 11" July b. 10" Dec c. 5" June d. 5th July
b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c.@Tl 1 bl 10 feHax c.5F <0 5 JaTs
Q18. When and where ‘Earth Summit’ was held? M
a. Tokyo, 1972 b. Stockholm, 1978 c. Ri aneiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEAr, 1972 Y wiwgw, 1978 T R frsmfar, 1992 @ =2 faedt, 2002

Q19. Which of the gases does not have any contribution to "\Gyﬁect’?
a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b . 191 ST AT § FoFe 9 &7 FIE TR A5l §2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c.H en d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for fra smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter c. Decibel d. Megawatt

o7 211 gt ygur &7 w4 foro fRerferfra & & frasr v B Smar 82
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 d—/ ¢. 2001 d. 2006

b. W 221 gAY 397 # foFe I Trghr qartawor At 7 "o i e ot
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 20 b. 2011 c. 2014 d. 2015

. Q23| ZHTY Z9T | I AT UET GFH1F (AQT) e A & fohaT T a2
c. T 2001 112011 112014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. ? b. 1986 c. 2010 d. 2015
b. | FATawer ey srfafaew o ad § @y foea e o e

c. T 1956 &1 1986 #11 2010 dI 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. ms System  d. Reproductive System Q25
Q.25 ATg TEUU ATAE 1T T 6T STOTTEAT &l THTTad H3dT 62
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable n-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made Wtic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation ing c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% A33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh  \ _geMadhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotig resource?
a. Flora \bﬂé(s c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
V(ﬁal b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax \/ﬂute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

Wal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution? none of the above
a. Paper factories b. Brick Kilns c. Refineries \)}extile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139

Q11. Which one is a cause of Thermal pgllution?
a. Dust . Hot water . Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure \Andice
0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2

T 307 W &1 3 T 32 98 ST ¢l s Y97 di e

Q13. Which of the following is not provided by forest?

a. Medicines . Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
s Sea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:

a. Lithosphere b. Hydrosphere c¢. Atmosphere \M)Sphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?
a. Carbon Dioxide vﬁhlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 S 9%d & Tqel g+ oy [_Aefertera & & &= |7 9 [reee g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec N5 June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 \af@e Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
\(hloroﬂuorocarbons

a. Nitrogen b. Carbon Dioxide c. Methane

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge  y_aePECibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 d 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 \AIA d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 \M% c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affecip which system of human body the most?

Digestive System espiratory System  ¢. Nervous System  d. Reproductive System 025I
Q.25 3T Tgu oY T TR STOTTERt T TATia Fear 82
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. RenewdDle b. Non-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic d. None dPthe above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Minif® c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

/

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.025% bl31% 1 33% diI30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

77 5| Raferfaa & & e w7 7 = = e & saie & fow Seaer a8t g2
Ui geE bl 2R ol SEE AR I weT TR

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FETHT ?Pﬂqg-rn T HAT T

Q7. The most abundantly available fossil fuel is-

a. Coal b. Petroleum c¢. Natural Gas d. None of the above
T 7| HEH ATIF ITASH SATIH 28 ga
T FHFAT bl Y2rfermd® & T dl TAH F Fre off 78T

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute

T5T 81 I AT Y2 Iorad & 3 IcaTe 78l 872
EEIEE bﬁh‘&ﬁ? clHH dl e

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
m?ﬁém'r bl T FST ¢l 999 St dI ST Fsll

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Textile Industries
=7 101 T T T AT TEUU AT FHILT T51 52

T\ FGS FET AT gz gl ol g € wET 3=
Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
Tl g A TH AT el g3 dl Sarew 90T

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
mma“rsr?nﬁ?vraﬁa?agermclmérg(dlﬁﬁm

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. UbaaTT{ bl @I c| AFST dI T/

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. WART 74 cl e dl?ﬂ?l'sr

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. U T bl SIHEd ol AR dI dreewe

Q16. Which of the following gases is responsible for thinning of ozone layer?
a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. QIW%‘I?T“FFHEE AT FAFATLFRTET ¢l AT dl gTEgre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5" Juge d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo,€972 b. Stockholm, 1978 c. Rio de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. U ATEEN bl FTa9 STeAtF@=zE o #1299 dI F=0

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FATGyT AT AHIAT | ZTEgio ST Hewd STEarFaTee

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel d. Megawatt

o7 211 gt sgur &7 wrae o foro fAerferfera & & frasr v e Srar g2
o, e i @R Q) e

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 | 1992911 2001 4| 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001® b. 2011 c. 2014 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 #t 1986 #T 2010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable b. Ngg#renewable c. Biotic d. Flow

o1 Rt & & =i |7 |91ee @b g2
Tl AT & -SSR0 || A9 dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S A Affa ot ufaafes & a0 o+ oft gt

Q3. What is the main cause of Land Degradation in Jharkhand? V

a. Owver Irrigation mng c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

2.22.5% b.31% P 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana ¢. Uttar Pradesh d. Madhya Pradesh

71 51 Fwtorfeaa § & o oo # = f=mE 9 % s & foo Serer a8t g2
T 9STa bl gRATIT ¢l 3L T4 dww

Q6. Which of the following is not a biotic resource?
a. Flora PR 0CKS c. Fauna d. Fisheries
06| FFeferfed # & %= a1 v Sfas J91e+ 951 62



Tl FART bl Tl " BT | HFAT Tl

Q7. The most abundantly available fossil fuel is-
ﬂal b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T| HIAT bl TSrierm® Y| ITHAS® T8 dl 299 | Fr2 ff 981

Q8. Which one is not a bi product of petroleum?
dsel b. Kerosene c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which ogg is not a non-conventional source of Energy?
% b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories rick Kilns c. Refineries d. Textile Industries

=7 101 T 7 T AT TEUU AT FHIT 951 52
T| FOS FETE &7l S 9gf ¢l RwrEads ) #9271 33

Q11. Which one is a cause of Thermal pgllution?
a. Dust Jwater c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g A TH A el g3 dI SETed S

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Preggure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T\ 9o 29 &7 G FF 3T 98 STET el 592 G d| fierr

Q13. Which of the foldowing is not provided by forest?
b. Food grains c¢. Wood d. Gum




b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
a S b. River c. Lake d. Pond

b W7 14| fwforfaa & & 19 97 aro7 911 7 #0q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosgifere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 S 9%d & Tqel g+ oy [_Aefertera & & &= |7 9 [reee g2

c. T FTdq STeafaTse a1 %dl(l‘i’?lchl@?d cl ATZerSA  dl gregre

Q17. On which day World Environment Day is celebrated every year?

a. 11" July b. 10" Dec c. 5" June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T 115 bl 10 fTEaw c.5§ 2N 5 TS

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c. Rio de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002
eassssssnd®

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar
-

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T F & AHAT ¢l BTESoE S| Toh STEaadEe
)

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel d. watt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 d. 2006
b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2

c. E' ]ggg 1 1992 11 2001 di 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 01 b. 2011 c. 2014 d. 2015

b. 023! ZHTL 39T ¥ g TaFE (201) T ad o= T am e
c. T 2001 112011 =t 24 412015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986 c. 2010 d. 2015

G
b. Q24| qatawr §eqv rfafaas e ad & ] o6 am =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T\ qT= 9 b|?ﬂ:wn?ﬁ EUIEEIRE RS IR EEE ALl
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable @ b. Non-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotice d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S Aa AT ot vfamgfes & za0 a % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. W SET R o agy # oA i wer dl=wE

Q4. What Percentage of our land should be under forest?

a.225% o b. 31% c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana e C Uttar Pradesh d. Madhya Pradesh

1 5 feferfea § & v woa # f=me f=e s % orie & oo Seer 78t 82
T| GSTa® bl FRATIT ¢l ITT T dI F&T T

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



mwﬁ% bl Tl HYI BET 3| HEAT AT

Q7. The most abundantly available fossil fuel is-
a. Coal b. Petroleum c¢. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T FIG bl TEIIH | ITHAF T dI TAH F Fs A6 T@l

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
T A bl FAET ¢l FH dI S @

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
maﬁ;rm bl T FST ¢l 999 St dI ST Fsll

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T| FETS FEET A 22 Agt | RS <11 FasT 32 @

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
Tl g &1 TH AT cl g3 dI STEaed 2ad @

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T\ = 29 &1 e ¥ 27 9% ST el s Y97 d| diferr @

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T T bl AT cl dFST dI TH

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. T AFT® T\ 74 cl e dI T

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. T frEfERT bl TaHEA clcllgi-isvl.dl EIEIE= )

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 93d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FET STEAFETE® A FATFALIET ¢l ATZEST dl ETEEeE

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5" June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 fGFaw ¢.5 @ <11 5 Ja1s

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c. Rio de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. U Ik 1972 T wiFam, 1978 i fav & swfvar, 1992 € 7% faweft, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEENT bl FTa STeaiFarze o1 AT @ dI Fr

Q20. Which of the following is used to purify water?



a. Chlorine @ b. Ammonia c. Hydrogen @ d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A. Wex & T # REE ) wmEre

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 d. 2006 @

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 c. 2014 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 #2011 #2014 d1 2015 @

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 =TI 198@ =TI 2010 dI 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T9T Tt & IEFT AT I TS Jorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable yn-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?
a. Replenishable b. Human Made Wtic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation ning c. Deforestation d. Overgrazing
b. Q3| ATREE H 7 FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% JBB% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d gviadhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie  fow Seaer 981 62
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource?
a. Flora b. Rgcks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 9ar4d 95l 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
Sy ##C0al b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax fe

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

Jal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Zextile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T| FES F@E &7 32 98l ¢l mreadst 2 #9732

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Het water c. Smoke d. Fossil Fuel
T 111 aﬁawm@wﬁ*%

Tl g AT TH AT ¢l g3 dl Sarew ga+q

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure aundice
0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2

T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
a. a b. River c. Lake d. Pond

b. T 14| Fwferfaa & & F19 97 aro7 9Tt #7 &=0d T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Flosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen
b. T 161 A= 92d & foro Rerforfaa o & &9 =t | e g2
c. U FEA STEAFETEE ATl FAUFATLHRET ¢l AT dl gregree

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5" dline d. 5th July

b. T 171 fsg watawer faew gv are e fae g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c. Righde Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEAr, 1972 Y wiwgw, 1978 T R frsmfar, 1992 @ =2 faedt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

Nt o) e st P g i e 2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



whlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge C. ibel d. Megawatt

o7 211 gt Sgur &7 w4 foro fArferfra o | frasr v e Smar g2
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 ’2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

4 d. 2015
(rQT) T T & fohaT =T 92

a. 2001 b. 2011

b. 0231 ZHTL I97 | TEH AT ora
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 4986 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Resgjratory System  c. Nervous System  d. Reproductive System Q25

Q.25 aTg Jgu T TR SOTTEAT T T FeaT 62
T I a7 bl THqT It & EFT a1 o= yorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable %renewable c. Biotic d. Flow
o1 Aot & & = |7 "97em @b g2
Tl AT S| IR-AA RO " SAfEaE dl 9

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made wtic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?
a. Owver Irrigation \Xm;] c. Deforestation d. Overgrazing

b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. T AETErEeE @ AT Y a9 i w4l TS

Q4. What Percentage of our land should be under forest?
a.22.5% b. 31% % d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh adhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic urce?
a. Flora ocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
oal b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax ﬂ[e
T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82

Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

Wal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries Wile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T| FES F@E &7 32 98l ¢l mreadst 2 #9732

Q11. Which one is a cause of Thermal pollution?
a. Dust %Water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
Tl g AT TH AT ¢l g3 dl Sarew ga+q

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure Wice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. Medicines Mgrains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
JS;& b. River c. Lake d. Pond

b. W 14| Fwferfaa & & F19 97 aro7 9Tt #7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:

a. Lithosphere b. Hydrosphere c¢. Atmosphere ﬁsphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gasesisynsible for thinning of ozone layer?

a. Carbon Dioxide . Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated everygyear?
a. 11" July b. 10" Dec %ne d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 Wde Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEAr, 1972 Y wiwgw, 1978 T R frsmfar, 1992 @ =2 faedt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

Wen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b . 191 ST AT § FoFe 9 &7 FIE TR A5l §2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



./hlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge M bel d. Megawatt

o7 211 gt ygur &7 w4 foro fRerferfra & & frasr v B Smar 82
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 »2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 14 d. 2015
b. Q23| THTL 29T | EIT AT ToTa<T GAi® (AQT) Tohe I gr= e s =2
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 . 1986 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System %piratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
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GURQ\IANAK COLLEGE, DHANBAD

ro I I n 0_9 O Department of Economics
S 6 E h Mid-Semester Internal Examination: 2020
e m C O QQe%t’-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable \Mon-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

eplenishable b. Human Made c. Abiotic d. None of the above

b. Q21 T HAAT & e Fofy § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Over Irrigation Wining c. Deforestation d. Overgrazing
b. Q3| ATTEE H I FTH AT TE&T FHTL F4T § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% js% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
J Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource?

a. Flora M)cks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
Joal b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax y

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

W b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

wrfactories b. Brick Kilns c. Refineries d. Textile Industries
=7 101 T T T AT TEUU AT FHILT T51 52
T| FES F@E &7 32 98l ¢l mreadst 2 #9732

Q11. Which one is a cause of Thermal pollution?

a. Dust d«)twater . Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure \W

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?
Medicines b. Food grains ¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?

a. Sea b. River c. Lake \dyd
b. W 14| Fwferfaa & & F19 97 aro7 9Tt #7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere yosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide \Moroﬂuorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?

a. 11" July b. 10" Dec ~Mune d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 Me Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEAr, 1972 Y wiwgw, 1978 T R frsmfar, 1992 @ =2 faedt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
\/ Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



Wrine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge Wbel d. Megawatt

o7 211 gt ygur &7 w4 foro fRerferfra & & frasr v B Smar 82
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was announced in our country?
M986 b. 1992 c. 2001 d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 JOM d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 86 ¢. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System Wespiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 ATF TEUU ATAE 1T AT 6T STOTTAT &l THTa H2aT 62
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable b. Non-renewable c. Biotic 0\9/
o1 Aot & & = |7 "97em @b g2
Tl AT S| IR-AA RO " SAfEaE dl 9

Q2. Solar energy can be put in which category?
nefe

a. Replenishable b. Human
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

c. Abiotic d. None of the above

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining c. Deforestation d. Overgrazing
b. 03I TGS P I FTH T TE&T FHTL F4T § 2
c. Tl o AT @AT W) a4 A FEre dl TS

Q4. What Percentage of our land should be under forest?

a.22.5% 1% c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?

a. Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh
L 51 ﬁﬂ%ﬁﬁmﬂﬁﬁaﬁﬁﬁﬁﬁ%m%ﬁ?ﬁﬁm?ﬁ%?

T| 9SS bl cl AT TR dl HeT Ta9T

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c. Fauna d. Ej#heries

06| Feferfad & & 19 |7 Us Sfas 674 951 52
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Q7. The most abundantly available fossil fuel is-

a. Coal b. Petroleum c¢. Natural Gas d. None of the above
F 7| HEH ATIF ITASH SATIH 24 B-
T FHFAT bl Y2rfermd® & W% dl =9 | #E ot T8T

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

a. Coal b. Solar energy c. Wind Energy d. Tidal Energy
T5T Q1 I T ZASTT T U -G HId A8l g 2
e bl HIX FT ¢l 989 ST dl SATT Sl

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Textile Industries

57 101 T 9T gov AT TGV T FHIL0T T80 52
T FEE AT 22 Agl ol w11 FOET S

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water cémg/ d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaungpfe

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T 307 W &1 3 T 32 98 ST ¢l s Y97 di e

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum



b. W 1Y FRufeiag & & ®9 S g Yam 981 A AT g2
c. T bl @TATT cl AFHST dI T/

Q14. Which of the following is not a source of Fresh water?

a. Sea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 a7 TH1LgT #1d T8l 52
c. WART 74 cl e dIM

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosphere

b. Q 15. &3 & ST FIA ATAT (1A
c. T fEEfET bl STOHEEA cl 1l fetewe
Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen
b. ¥ 161 W%Wmfﬁmﬁﬁﬂﬁmw%?
c. Tl AFTEE o cl ATEESF  dl gleg oA

Q17. On which day World Environment Day is celebrated every year?

a. 11" July b. 10" Dec c. 5" June d. 5th July
b. T 171 frsg watawer faeaw gv arer e o 7amar Srar g2
c. TN A bl 10 GHaT o 2N 5 TS

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c. Rio de wg 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of phe gases does not have any contribution to ‘Greenhouse effect’?
: rogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



a. % b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel d. Megawatt
57 211 &at Jgur & /7Aoo # & et ST e Smar g2
A, Wex @S = dl FmaTe

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 c. 2014 d. 2015

b. 0231 ZHTL Z9T | TP AT 0Tl AR FMAQT) e I & AT T a2
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986 c. 2010 d. 2015

b. Q24| TATETI HIEA, o ad # &y o T o
c. T 1956 #1I 1 €11 2010 d1 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25

Q.25 AT TEU A &7 FiT Tor TOrTedt i orferd Far g2
T\ qT= 9 bl%’ﬂﬁﬁ EUIEEIRE RS IR EEE ALl
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx



GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable @ Non-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

Replenishable b. Human Made c. Abiotic d. None of the above
b. Q21 T FHAAT & e Fofy # T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation Q.Mining c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% @c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh @. Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource?
a. Flora @. Rocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
#Coal b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax (’Jute

®
T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
agCoal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories a Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139

Q11. Which one is a cause of Thermal pollution?

a. Dust i® Hot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure Q. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?
a. Medicines ® b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake @l. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere @dJd. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide ® Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec @. 5" June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 @. Rio de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

@ Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



@a. Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?
A Meter b. Gauge c. Decibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 @d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 @. 2014 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 ® 1986 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System ¢ Respiratory System  c. Nervous System  d. Reproductive System Q25|
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx
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Name - Rohan

GURU NANAK cOLLEGE, DHANBAD KUymar

Department of Economics RO” no - 31 5
Mid-Semester Internal Examination: 2020 )
semester-06

Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory

Choose the correct answer

Q1. Which one of the following t source are minerals?

. Non-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
Tl AT S| IR-AA RO " SAfEaE dl 9

a. Renewable

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made iotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable | AT AT =i N zaT A ot T8T

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation ining c. Deforestation d. Overgrazing
b. Q3| FAEE § 7 g™ S T AT 82
c. Tl @AY EREeE &N @|aa #Y) o aat B wers dl T

Q4. What Percentage of our land should be under fg
a.22.5% b. 31% c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible forg&id Degradation?

a. Punjab b. Haryana c. Uttar Pradesh . Madhya Pradesh
1 5 fFRefotea § & fra o 7 = f=EmE 9 ¥ sme ¥ oo TE g2

TGS bl FRATIT | ITT I dI FeT T
Q6. Which of the following is not ic resource?

a. Flora . Rocks c. Fauna d. Fisheries

061 Frmrferfr & & #i ar @ s wreTe A5 32



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
oal b. Petroleum c. Natural Gas d. None of the above

T 7| HEH ATIF ITASH SATIH 24 B~
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax /e
T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82

Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
oal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries extile Industries
=7 101 T T T AT TEUU AT FHILT T51 52

T| FES F@E &7 32 98l ¢l mreadst 2 #9732
Q11. Which one is a cause of Thermal pollution?

a. Dust . Hot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure ﬁundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. Medicines ood grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. UITETT bl @TETH cl dFHst dI T80

Q14. Which of the following is not a source of Fresh water?

/ Sea b. River c. Lake d. Pond

b. W 14| Fwferfaa & & F19 97 aro7 9Tt #7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosphere

b. Q 15. &3 T GHAT A ATAT S &
c. U forEEfET bl TEHEA ol argHed dI St

Q16. Which of the following gases is re ble for thinning of ozone layer?

a. Carbon Dioxide . Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 AT 93d & gdl g & oy Faferfad & & #i9 #f | ‘e g2
c. Tl HTET STEAFITEE STl FALFALRET ¢l ATSET  dl gTEg e

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec . 5" June d. 5th July

b. T 171 frsg watawer faaw gv are fh foe aamar Srar g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 io de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEAr, 1972 Y wiwgw, 1978 T R frsmfar, 1992 @ =2 faedt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

itrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

. 0191 FegrsH o= & fF 9 7 A7 TeTe 981 22
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



lorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge 1bel d. Megawatt

o7 211 et ygur &7 w4 o foro fArferfera &7 a frasr v e Smar 82
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was announced i ntry?
a. 1986 b. 1992 c. 2001 . 2006

b. W 221 gAY 397 # foFe I Trghr qartawor At 7 "o i e ot
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 . 2014 d. 2015
b. 0231 ZHTE 391 ¥ LA a1g TaFE (201) T ad o= T am e
c. T 2001 112011 112014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 . 1986 c. 2010 d. 2015

b. 024 reTor sferfaae o o § ] T T Ame
c. T 1956 111986 #TI 2010 dI 2015

Q25. Air pollution affects which system of human body the most?

Digestive System espiratory System  ¢. Nervous System  d. Reproductive System 025I
Q.25a1g TETT T T3 STOTTEAT T TATAT Fear 82
T 9T a7 bl T0qT IOt & REFTa = d1 o= yorrett
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx



name- MANISHA

GURU NANAK COLLEGE, DHANBAD

KUMARI, rollre=24:-

Mid-Semester Internal Examination: 2020

Unjversity-rollno=180 =

ime: 45 minutes

36101931 /-

Q1. Which one of the following type of resource are minerals?

a. Renewable ~Non-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made miotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degragttion in Jharkhand?

a. Owver Irrigation ining c. Deforestation d. Overgrazing
b. Q3| ATTEE H i gTa T eI FHTI0T F47 52
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under fores

a.22.5% b. 31% 3% d. 30%

Q4| ST & 1= gATE I F7 Siarerd fhaar =T
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d.M radesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

a. Flora c. Fauna d. Fisheries

06! feferfea & & &9 a7 U




T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-

% b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Ju

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
a. Coal energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries dyelndustries
=7 101 T T T AT TEUU AT FHILT T51 52

T| FES F@E &7 32 98l ¢l mreadst 2 #9732

Q11. Which one is a cause of Thermal pollution?

a. Dust b. er c. Smoke d. Fossil Fuel
ToF 111 THA TZHIT T T FHILIT I 47 82

T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure Wice
0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2

T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d.



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. UITETT bl @TETH cl dFHst dI T80

Q14. Which of the following is not a source of Fresh water?

% b. River c. Lake d. Pond ®
b. W 14| Fwferfaa & & F19 97 aro7 9Tt #7 50q T8 52

c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Bifsphere

b. Q 15. &3 T GHAT A ATAT S &
c. U forEEfET bl TEHEA ol argHed dI St

Q16. Which of the following gases is responsi or thinning of ozone layer?
a. Carbon Dioxide orofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. Tl HTET STEAFITEE STl FALFALRET ¢l ATSET  dl gTEg e

Q17..On which day World Environment Day is celebrated every \igar?
a. 11t July b. 10" Dec A d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 ~Rio de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEAr, 1972 Y wiwgw, 1978 T R frsmfar, 1992 @ =2 faedt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

itrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 fETSH T9TT § 3 77 7 1 TRETH 751 g2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



lorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollition?

d. Megawatt

A. Meter b. Gauge

o1 211 gt ygur &7 7o foro fArferfra o & frasr v B smar 82
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 . 2001 M

b. W 221 gAY 397 # foFe I Trghr qartawor At 7 "o i e ot
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) launched in our country?
a. 2001 h. 2011 j d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 112014 41 2015

Q24. In which year Environme ction Act was enacted?

a. 1956 . 1986 c. 2010 d. 2015
b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 111986 #TI 2010 dI 2015

Q25. Air pollution affects which system of human body the most? o

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25

Q.25 aTg Jgu T TR SOTTEAT T T FeaT 62
T qEA AT b gurTely Y AT AT Al TSI Tt
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx



GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer

Q1. Which one of the following type of resource are minerals?

a. Renewable b. Non-renewable c. Bj d. Flow

o1 Aot & & = |7 "97em @b g2
Tl AT & -SSR0 || A9 dl 98

Q2. Solar energy can be put in which category?

a. Replenishable W/Iade c. Abiotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TohclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mjp#fig c. Deforestation d. Overgrazing
b. Q3| AEE H ¥ g9 & & FAT 82

c. T AETErEeE @ AT Y a9 i w4l TS

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% C. 0 d. 30%
041 W%ﬁ%gﬂﬁs{iﬁryﬁ%@mﬁ@?

a.22.5% bl 31% 33% di 30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?

a. Punjab b. Haryana C. U;pr Pradesh d. Madhya Pradesh

77 5| Raferfad & & for w7 # = f=Ee =+ & foru e 981 82
T 9T bl gRATIT ¢l ST TR dl LT T4

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks ¢. Faun d. Fisheries

061 Frmrferfr & & Fi A o S w8 3



T| T D o AT ) AT 9T

Q7. The most abundantly available fossil fuel is-

a. Coal b. Petroleum c¢. Natural Gas d. None of the above
S
F 7| HEH ATIF ITASH SATIH 24 B~

T| HIAT bl TSrierm® Y| ITHAS® T8 dl 299 | Fr2 ff 981

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
T 9 bl FART cl ®H Al

[ J
Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy d. Tidal Energy
T5T Q1 I T 371 T U AL-ITEAT ST A8l g2
Tl bl HIX FT ¢l 989 ST dl SATT Sl
Q10. Which one is not a cause of Air Pollution?
a. Paper factories b. Brick Kilns g c. Refineries d. Textile Industries
57 101 T 7 T qET T AT FHIT 951 52
| TS, A Ze Agt ol RwrEads W FA=T I

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke \}055” Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g A TH A el g3 dI SETed S

Q12. Which of

owing disease is not caused by Noise Pollution?
aring Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T\ 9o 29 &7 G FF 3T 98 STET el 592 G d| fierr

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d. Pond
—

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52 L
c. AR T\ 740 cl e dI e

Q 15. The life supggstingsphere is: °
W‘ b. Hydrosphere c. Atmosphere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsijgie for thinning of ozone layer?
a. Carbon Dioxide orofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 S 9%d & Tqel g+ oy [_Aefertera & & &= |7 9 [reee g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec \%ne d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. TSR bl 10 REaT c.597 N 5 a2

Q18. When and where ‘Earth Summit” was

a. Tokyo, 1972
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

olm, 1978 c. Rio de Janeiro, 1992 d. New

Q19. Which of the g does not have any contribution to ‘Greenhouse effect’?

b. Carbon Dioxide ¢. Methane d. Chlorofluorocarbons

b. 0191 AT TATT § o T &7 FIS A A5l §2
c. T ATEENA bl FgAT STeatFarEs & #9F  dl F0

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d. gllphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to megg#re noise pollution?

A. Meter c. Decibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. c. 2001 d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was lgunched in our country?

a. 2001 b. 2011 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

r Environment Protection Act was enacted?

b. 1986 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which sysgem of human bg e most?

Digestive System  b. Respiratory System ous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett

' ~~Rohit-Kumar_
roll -507
BA. hon,'s



name sagar-kumar

epartment of Economics

if-Sen€stcl Internal Examination: 2020
rO I l Oem CC: XIV-Environmental Economics

Time: 45 minutes

sem:6~ eco honurs

Q1. Which one of the following type of rgfource are minerals?

a. Renewable -renewable c. Biotic d. Flow

o1 Aot & & =i |7 |97ee @b g2
Tl AT & -SSR0 || A9 dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic d. None of the above
b. O FST T o Soft o T ST gehar 82
M Replenishable o AW AfT o ufaates & a0 F £ oft 781

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Qyer Irrigation b. Mining c. Deforestation d. Overgrazing
03| ATTET | A ZTH T 7T HTL0 7T 82
c. Tl SET RO AT gaa # aqt i Fwers dl ;s

centage of our land should be under forest?

2.5% b. 31% c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degefidation?
a. Punjab b. Haryana ¢. Uttar Pradesh mdrfadnya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl gRATIT ¢l ST TR dl LT T4

a. Flora c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 Tal 52




Tl FART bl Tl " BT | HFAT Tl

Q7. The most a antly available fossil fuel is-
a. b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T| HIAT bl TSrierm® Y| ITHAS® T8 dl 299 | Fr2 ff 981

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d e

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which is not a non-conventional source of Energy?

oal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one isgiot a cause of Air Pollution?
Papegdctories b. Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T| FOS FETE &7l S 9gf ¢l RwrEads ) #9271 33

Q11. Which g#fe is a cause of Thermal pollution?
b. Hot water . Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g A TH A el g3 dI SETed S

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jauglice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T\ 9o 29 &7 G FF 3T 98 STET el 592 G d| fierr

Q13. Which of the following is not provided by ffrest?

a. Medicines b. Food gffains ¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of te following is not a source of Fresh water?
ea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere tmosphere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is respongy#fe for thinning of ozone layer?

a. Carbon Dioxide orofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 S 9%d & Tqel g+ oy [_Aefertera & & &= |7 9 [reee g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

a. 11" July b. 10" Dec d. 5th July
b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. TSR bl 10 REaT c.597 N 5 a2
Q18. When and where ‘Earth Summit’ was held?
a. Tokyo, 1972 b. Stockholm, 1978 c. Rigflie Janeiro, 1992 d. New

Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which g#the gases does not have any contribution to ‘Greenhouse effect’?

Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



a. orine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise polgsfion?

A. Meter b. Gauge d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in ourgéuntry?
a. 1986 b. 1992 c. 2001

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (Al as launched in our country?

a. 2001 b. 2011 14 d. 2015
b. Q23| THTL 29T | EIT AT ToTa<T GAi® (AQT) Tohe I gr= e s =2
c. T 2001 112011 #2014 41 2015

lon Act was enacted?

c. 2010 d. 2015

Q24. In which year Environment Prg
a. 1956

b. Q24| qATa Hequ Afefaas e ad § @] o m =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects wij#h system of human body the most?

Digestive System . iratory System  c. Nervous System  d. Reproductive System Q25|
Q.25 3T Tgu ST T TR STOTTeRT T TATiad Fear 82
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?

Mble b. Non-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
Tl AT T - GIISICEaNCICE

Q2. Solar energy can be put in which category?
a. Replenishable b. Human Made iotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Ul Replenishable ™| #°a A =T ufafes <1 =77 & #re ofF 781

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2

c. Q|W€&&9WW|aﬁﬁw€ dl J7TE

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% c. 33% d. 30%

Q4| ST & 1= gATE I &7 sfarerd e ?
a.22.5% bl 31% #T133% dl 30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

1 5| Metoried § & g wsg 7 = = g = & forw e 7@l 82
T GSTE bl FRATIT ¢l I TR odI Teaghaer

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART IS FAT  F| T qTT

Q7. The most abundantly available fossil fuel is-
a. Coal b. Petroleum c¢. Natural Gas d. None of the above

7| qAH 5 STTAT9H 8 2-
l bl TErferad & YTHfa® I dl T T FI AT T81

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute

T=T 81 FIF AT T 3 IqTE 7l 52
bl FTET ¢l W dI &

Q9. Which one is not a non-conventional source of Energy?

a. Coal b. Solar energy c. Wind Energy d. Tidal Energy
T5F Q1 I T SoTT T U TL-ITEA HIg, Tol g2
Tl HTAT bl X FAT ¢ dl SETT ST

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T FE F@EE &7l T2 9gi cl e =T =T

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
g A cl g dl Sfrarew gg

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

o121 = HF T &Y TEUIT % FT A5l 82
a1 et 7 27 9% T ol s Y9 d) difer

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum



bWﬁﬁﬁ?WWWﬁﬁmwé?
c T bl @TATT cl dFel dI T

Q14. Which of the following is not a source of Fresh water?

a. Sea b. River c. Lake d. Pond

b. T 14 H T I FT qT I T &G A1 82
c. T T cl e d1 T

Q 15. The life supporting sphere is:

a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosphere
b. Q 15. &3 & ST FIA ATAT (1A
c. T EEfaY bl TTHET ocl dl frantemer

Q16. Which of the f ing gases is responsible for thinning of ozone layer?
Car ioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. Tl HTET STEAFITEE STl FALFALRET ¢l ATSET  dl gTEg e

Q17. On which day World Environment Day is celebrated every y

a. 11" July b. 10" Dec d. 5th July
b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=
Q18. When and where ‘Earth Summit’ was held?
a. Tokyo, 1972 b. Stockholm, 1978 c. Rio de Janeiro, 1992 d. New

Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. WA, 1972 o wiFEW, 1978 i Smet s, 1992 € e fawedt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 019 TN H 6 9 FT HS AR 76l 62
c. z bl FTET STeAFTEE |1 MIT  dI F0

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. o1 201 fRferfeaa & & freet ST ot i1 95 F * for frar smar g2
Tl | TITAT | BTESreA ST J0% STEaiFTee

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel d. Megawatt
57 211 &t T AT | H & foreat ST R srar g2
A, Hew #as H® dl FmaTe

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 J

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 . 2014 d. 2015

b. 0231 ZHTE 391 ¥ LA a1g
c. T 2001 112011

TaH (AQT) T o & FraaT 13T =2
4 412015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986 c. 2010 d. 2015

b. Q24| TATETI HI&AT o ad # &y o T o
c. Tl 1956 98 12010 di1 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT < AT T TOrTett i Torferd F2dr g2
T| 9T= T Q|M EUKSIEEIRE NI EL LR
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics

Mid-Semester Internal Examination: 2020

Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes Name_-Shanaya
. kumari
All questions are compulsory .
sub -economics
Choose the correct answer
hons.
1. Wjgich one of the following type of resource are minerals?
0 9P class rollno -222
enewable b. Non-renewable c. Biotic d. Flow uni.rollno
o1 Aot & & = |7 "97em @b g2 -180361019335
Tl AT & -SSR0 || A9 dl 98
Q2. Solar energy can be put in vﬂch category?
a. Replenishable ! Human Made c. Abiotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t
Q3. What is the main cause of Land Degradation in Jharkhand?
a. Owver Irrigation \lMining c. Deforestation d. Overgrazing

b. 031 =\@EE | A ZTH T q&T FHTL0T T 32
c. T AETErEeE @ AT Y a9 i w4l TS

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% \(%3% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?

a. Punjab b. Haryana ¢. Uttar Pradesh d,l/ladhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl gRATIT ¢l ST TR dl LT T4

Rocks c. Fauna d. Fisheries

Q6. Which of the following is not abiotic resource?
a. Flora

061 Frmrferfr & & F A o S T A 3



Tl FART bl Tl " BT | HFAT Tl

Q7. The most abundantly available fossil fuel is-
\ﬁ:oal b. Petroleum c¢. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T| HIAT bl TSrierm® Y| ITHAS® T8 dl 299 | Fr2 ff 981

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax ute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Whicjibne is not a non-conventional source of Energy?
ajoal b. Solar energy c. Wind Energy d. Tidal Energy

757 9| AT ST T U A-ITF ST 7al 82
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries . Teffile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T| FOS FETE &7l S 9gf ¢l RwrEads ) #9271 33

Q11. Which one is a cause of Thermaioollution?

a. Dust ot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g A TH A el g3 dI SETed S

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T\ 9o 29 &7 G FF 3T 98 STET el 592 G d| fierr

Q13. Which of the following is not provideby forest?

a. Medicines . Fogl grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Whicjg®t the following is not a source of Fresh water?
Sea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d g¥losphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is respgfsible for thinning of ozone layer?

a. Carbon Dioxide AMlorofluorocarbon c. Nitrogen d. Hydrogen
b. T 161 A 9%d & Tdel g9 (o oot § & &= |7 9 [rwee g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated evggp year?
a. 11" July b. 10" Dec " June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. TSR bl 10 REaT c.597 N 5 a2

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 # de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which gf the gases does not have any contribution to ‘Greenhouse effect’?
itrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons
. 0191 MABTSH TATT H o6 A FT TS ANTETT Aal 82
c. U ATEENE bl FTa9 eTeaAtadTzs o #1299 dI F=0

Q20. Which of the following is used to purify water?



a.4¥Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

.1 201 FReferfera § & freert STt art & 90 F F forw G sar g2
c. T FT & AHAT ¢l BTESoF S| Hoh STEaadEe

Q21. Which of the following is used to measure noisgpollution?
A. Meter b. Gauge ibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced j our country?
a. 1986 b. 1992 c. 2001 006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (A1) was launched in our country?

a. 2001 b. 2011 c 4014 d. 2015

b. 0231 ZHTL Z97 | TP AT UTET LAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Egtection Act was enacted?

a. 1956 . 1466 c. 2010 d. 2015

b. Q24| TATE HXeqW Afefaas e ad & ] 6 am =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of humangfody the most?

Digestive System  b. Respiratory System ¢ vous System  d. Reproductive System 025
Q.25 AT TEU A &7 it T SorTedT & T FIATE?
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett

a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx



GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory

Choose the correct answer

Q1. Which one of the following type of resource are minerals?

a. Renewable b. Non-renewable c. Bj d. Flow
o1 Aot & & = |7 "97em @b g2
T| T | A-Aa oy #@11 Sfaw di 95
Q2. Solar energy can be put in which category?
a. Replenishable b. Human Made biotic d. None of the above

b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradatjg#in Jharkhand?

a. Owver Irrigation b.
b. Q3| ATEE § ¥ ga i1 ¥ 101 #4752
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

c. Deforestation d. Overgrazing

Q4. What Percentage of our land should be under fores

a.22.5% b. 31%

Q4| ST & 1= gATE I F7 Siarerd fhaar =T
a.225% bl 31% #H133% dl30%

3% d. 30%

a. Punjab b. Haryana c. Uttar Pradesh

1 5| Metoried § & g wrsg 7 = = 9@ % smue % o Reer
T| ST bl FRATIT ¢l SAT TR dI 7T

a. Flora c. Fauna d. Fisheries

061 Frmrferfr & & Fi A o S T A 3



Tl FART bl Tl " BT | HFAT Tl

Q7. The most abugdantly available fossil fuel is-
b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-

T| HIAT bl TSrierm® Y| ITHAS® T8 dl 299 | Fr2 ff 981
Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d.Ju

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82

Tl A bl FAEA ¢l FH dI &
Q9. Which one is not a non-conventional source of Energy?

a. Coal b. Solar energy c. Wind Energy . Tidal Energy
T5F Q1 I T SoTT T U AL-ITAT ST A8l g2

T| FIAT bl cl 999 FST dI ST SHeIT

Q10. Which ongffs not a cause of Air Pollution?

r factories b. Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T| FOS FE | Se 9gf ol RwrEadsr 2

Q11. Which one is a cause of Thermal pollutio
a. Dust c. Smoke d. Fossil Fuel

o7 111 THA TZHIT T T FHILIT Kl 47 82
T g A TH A el g3 dI SETed S

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure aundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T\ 9o 29 &7 G FF 3T 98 STET el 592 G d| fierr
Q13. Which of the following is not provided by forest?
a. Medicines b. Food grains c¢. Wood dgGum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d. Pg

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere iosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. U eET bl ST@EEA ¢l AHES dl

EULRED

Q16. Which of the following gases is respo e for thinning of ozone layer?

a. Carbon Dioxide orofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 A= 92d & = foro Mo & & &= =1 9 JSreee g2
c. T FEA STEAFETEE AT FAUFATLHRET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every yea
a. 11" July b. 10" Dec

b. T 171 frsg watawer faaw gv are r fo aamar Srar g2
c. TSR bl 10 REaT c.597 N 5 a2

d. 5th July

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 d. New

Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W I, 1972 y , 1978 i Rar Sy s, 1992 €1 % faeely, 2002

e Janeiro, 1992

Q19. Which of the gasgf does not have any contribution to ‘Greenhouse effect’?

b. Carbon Dioxide ¢. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



b. Ammonia c. Hydrogen d. Sulphur Dioxide

. w1 201 Feferfara § & freert STt art & 90 F F forw G sar g2
c. T F & AHAT ¢l BTESoE S| Toh STEaadEe

Q21. Which of the following is used to measure noise poll#ion?

A. Meter b. Gauge d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our
a. 1986 b. 1992 c. 2001

b. ¥ 221 9T 397 § Fohe a g gartaeor {1 i
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQ}g#as launched in our country?

a. 2001 b. 2011

b. 0231 ZHTL Z97 | TEI AT UET FAHF (AQT) e I & fohaT T o2
c. T 2001 112011 #2014 41 2015

d. 2015

ection Act was enacted?

c. 2010 d. 2015

Q24. In which year Environment P
a. 1956

b. 0241 qataer Meequr srfafaas e ad & ] o 1 =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which sy. of human body the most?

Digestive System  b. Respj System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU A LI T T TOITeAT T TATed F2dT 52
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable won-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic We of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation %Mining c. Deforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% \ﬁs% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
wnjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh
7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
TGS bl FRATIT | ITT I dI FeT T

Q6. Which of the following is not a biotic resource?

a. Flora b. Rocks c. Fauna Wisheries
06| FFeferfed # & %= a1 v Sfas J91e+ 951 62



T FART bl FgT= & BET T FAT I

Q7. The mgpst abundantly available fossil fuel is-
%al b. Petroleum c¢. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax wute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
a. @%al b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U -G ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories rick Kilns c. Refineries d. Textile Industries

57 101 T T T AT TEUU AT FHIT T80 52
T| FES F@E &7 32 98l ¢l mreadst 2 #9732

Q11. Which one is a cause of Thermal pollution?

a. Dust M Hot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
Tl g AT TH AT ¢l g3 dl Sarew ga+q

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rateq c.4%lood Pressure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. edicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River ake d. Pond

b. W1 14| Fwferfaa & & F19 97 aror 9Tt #7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere v Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?
a. Carbon Dioxide b. Chlorofluorocarbon Wrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec " June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c.4%o de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEAr, 1972 Y wiwgw, 1978 T R frsmfar, 1992 @ =2 faedt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
a. Nitrogen b. Carbon Dioxide M/Iethane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel Megawatt

o7 211 et ygur &7 7o foro fArferfra & & frasr v e Smar 82
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 MOG
b. ¥ 221 9T 397 § Fohe a g gartaeor {1 i EIR R )

c. W 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 14 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 Mﬁ c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System ¢, bgRespiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 aTg Jgu TETT T T3 STOTTEAT T TATAT Fear 82
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable b. Non-renewable c. Bi d. Flow

o1 Aot & & = |7 "97em @b g2
Tl AT S| IR-AA RO " SAfEaE dl 9

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made d. None of the above

b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Ul Replenishable ™| #°a A =T ufafes <1 =77 & #re ofF 781

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining c.D ation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. T @AY EREeE &N @aa #Y) o aat B wers dl A

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31%

Q4| SRT & == gATET I F7 wiaerd =T gram
a.22.5% bl31% #T133% dl30%

c. 33% d. 30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab . Haryana c. Uttar Pradesh d. Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c.F d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is- —

a. Coal b. Petroleum c¢. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene C. d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

a. Coal Wgy ¢. Wind Energy d. Tidal Energy

T5T Q1 I T SoTT T U AL-ITETE ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refigeries d. Textile Industries
=7 101 T T T AT TEUU AT FHILT T51 52

T| FES F@E &7l 32 98l ¢l wreadst 20 #9732
Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c.S d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate CW d. Jaundice
0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2

T| 3 9 &1 f&e FY 3T 98 I ol 592 Ja7 dl e

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c. d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. UITETT bl @TETH cl dFHst dI T80

Q14. Which of the following is not a source of Fresh water?

a. Sea s AT d. Pond

b. W 14| Fwferfaa & & F19 97 aro7 9Tt #7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:

a. Lithosphere me c¢. Atmosphere d. Biosphere

b. Q 15. &3 T GHAT A ATAT S &
c. U forEEfET bl TEHEA ol argHed dI St

Q16. Which of the following gases is responsible f ing of ozone layer?
a. Carbon Dioxide uorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. Tl HTET STEAFITEE STl FALFALRET ¢l ATSET  dl gTEg e

Q17. On which day World Environment Day is celebrated every year?
a. 11" July ec c. 5" June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=

Q18. When and where ‘Earth Summit’

a. Tokyo, 1972
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEr, 1972 i wiwgm, 1978 = R d smfar, 1992

ockholm, 1978 c. Rio de Janeiro, 1992 d. New

Te=t, 2002

Q19. Which of the gases does not have any contribution to ‘Greenh effect’?

a. Nitrogen b. Carbon Dioxide d. Chlorofluorocarbons

b. 0191 fETSH T9TT § 3 77 7 1 TRETH 751 g2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia ; gen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollutio

A. Meter b. Gauge d. Megawatt

o7 211 gt ygur &7 7o foro fArferfera 9 frasr v B Smar g2
A. Hew IS EREd d wmEE

Q22. In which year National Environment Policy was an in our country?
a. 1986 b. 1992 d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 1 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 y c. 2014 d. 2015
b. 0231 gL I | T UTETT GFHE (AQT) o A & fohaT 1T a2

c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was e

a. 1956 b. 1986 d. 2015

b. Q24| g H2e7y Aty
c. Tl 1956 11 1986 =TI 2010 di 2015

Q25. Air pollution affects which system of human body thgmost?
Digestive System  b. Respiratory System ous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett

shubham
kumar nishad
roll no-473
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
Vnewable b. Non-renewable  c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic Mone of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining Veforestation d. Overgrazing
b. Q3| ATREE H i FTH AT TE&T FHTL FIT § 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% Ws% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
Mnjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource?
a. Flora ocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
a. Coal b. Petroleum c. Natural Gas Mone of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
vesel b. Kerosene c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

a. Coal b. Solar energy c. Wind Energy ydal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries Vextile Industries
=7 101 T T T AT TEUU AT FHILT T51 52
T| FES F@E &7 32 98l ¢l mreadst 2 #9732

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke wssil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment Mcreased Heart Rate  c. Blood Pressure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

V/\edicines b. Food grains c. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?

Vea b. River c. Lake d. Pond

b. W 14| Fwferfaa & & F19 97 aro7 9Tt #7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere M/drosphere c¢. Atmosphere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide Mhlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec (VJune d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. W11 ATE bl 10 GHaT ¢.5FF =N 5 A=

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 Mo de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. T EEAr, 1972 Y wiwgw, 1978 T R frsmfar, 1992 @ =2 faedt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
a. Nitrogen Mirbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEENT bl FTad STeaiFarze o1 MIT  dI F0

Q20. Which of the following is used to purify water?



VChIorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge Vwcibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?
M986 b. 1992 c. 2001 d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 c. 2014 MS

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 w c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System vespiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT &7 FiT T TOTTett i orferd Fear g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable \,b./Klon-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made Motic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b Aining c. Deforestation d. Overgrazing
b. Q3| AEE | qH ZTH HT T FLIT F47 2
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?
a.22.5% b. 31% w d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh Mdhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotig resource?
a. Flora Ws c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
M b. Petroleum c. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax \/Aute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?

\fyéal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. TAXxtile Industries
=7 101 T T T AT TEUU AT FHILT T51 52

T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139
Q11. Which one is a cause of Thermal pollution?

a. Dust \t%ot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d.faundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T 307 W &1 3 T 32 98 ST ¢l s Y97 di e

Q13. Which of the following is not provided by forest?

\V(Aedicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?

\_a)Aea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere thosphere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. CAllorofluorocarbon c. Nitrogen d. Hydrogen
b. T 161 A 9%d & Tqel g (o [Aefertea § & &= |7 9 [reee g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec \%”‘ June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c. (Mo de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which pf the gases does not have any contribution to ‘Greenhouse effect’?

a/ Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 WAETSH TATT § o T &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



\VChlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge c. pecibel d. Megawatt

51 211 &at Jgur & 7T+ o forw fMefortea § & et ot o smar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 \%006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 c/2014 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 \bf686 c. 2010 d. 2015

b. Q24| qata<r §eqv srfafaas e ad & ] o ar =12
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System \%espiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT &7 FiT T TOITedt i orferd Fedr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.

*hkkkhkhkkhkkhkhkhikhkhkkhkhhhkhkhkkhkiiikkihikx



name;jitendra kumar sharma
college rollno:427

university roll no :180361019311
Sem:6

GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
\Aienewable b. Non-renewable c. Biotic d. Flow

o1 Frerferfere & & & &7 #arae =faw 82
WECEEEREE piean il e

Q2. Solar energy can be put in which category?

a. Replenishable \{Human Made c. Abiotic d. None of the above
b. Q20 ®IT oAt #r ey Aoft & T&r 1 7t 82
c. Tl Replenishable N\ fAffa #ff ufarnfes & zaw & wir o 75

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Over Irrigation Wining c¢. Deforestation d. Overgrazing
b. Q3| ATTEE ¥ qfH FI FT =T FTIT FIT T2
c. maETsfaeE @ e f o st frwer q =

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% %3% d. 30%

Q4| ST & A= AT SIFH F7 wiaera e g a2
a.22.5% bl 31% 11 33% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
Munjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

71 5| faferfea & 7 G oo # =g =g afw & srire & oo S 787 82
TIOSTE bl gRATIT ¢l SHT TE9T dI WET T29T

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c. Fauna %isheries
061 faferfee ® & #i= =7 v S qara 981 22



T| WART bl FETET H| BEAT AT AT

Q7. The most abundantly available fossil fuel is-
%Coal b. Petroleum c. Natural Gas d. None of the above

F1 7| HAH AT ITAH SHATYH o4 -
T FAAT bl GErfermy # wEEE ol e A wre oft adt

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax Véute

o7 81 FIT AT Y2 TTraH 7 {3 Ieurs T8 22
T ST bl FIEF ol AW dI e

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy MTidal Energy

T O I AT ZoAT FT U A7-q199fvF =Hia 721 22
T FTAT bl T FAT ol Ta9 FoAT  dl ST FoAT

Q10. Which one is not a cause of Air Pollution?
a. Paper factories b. Brick Kilns c. Refineries M extile Industries

927 101 I AT U AT T HT FTCT T21 272
U FES FeEr q e wet ol Ferads e 3=

Q11. Which one is a cause of Thermal pollution?

a. Dust Mlot water c. Smoke d. Fossil Fuel

T 111 AW TZIT FT TF FTL0 F9 AT 22
Tl ST TH AT el et d) sfrared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure V./Jaundice

Q121 75 ® & &= AT TN 91T TEA F FTI07 T2 82
T AFr 2 AT @ i 77 a7 ST o) =2 Yo7 d) G

Q13. Which of the following is not provided by forest?

a. Medicines - Food grains c. Wood d. Gum



b. W 13| FafeafEs & & Fi s greT vem T8 Gy s g2
c. T EATT bl GTATT cl FFST dI TH

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake %ond

b. 7 14 i & & #9 a7 a5 Ot #7159 @4 82
c. T AW T 74t cl=He 4l arenT

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere ¢. Atmosphere \{Biosphere

b. Q 15. 8 FT qHLT FIA AT S(raT 2
c. U orIefAT bl FTEHEA ol ATHEA d| FrATERd

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide %hlomﬂuorocarbon c. Nitrogen d. Hydrogen

b. W 16| AT T & Tae 2 % o FwfertEg ® & #17 #F i S 22
c. Tl FHTET TTEAFATET A1) FAFATRET ol ATZers dl grasrsrT

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10™ Dec %“‘ June d. 5th July

b. W 17\ FEreg wataor ffEwm 27 "re G B aamar smar 22
c. U1 FATE bl 10 BFHaw c.557F =5 TATE

Q18. When and where ‘Earth Summit” was held?

a. Tokyo, 1972 b. Stockholm, 1978 %io de Janeiro, 1992 d. New
Delhi,2002

b. T 181 And #F AHT ' 3T gl AaTira =541 T4T2
c. marEr, 1972 =t w=iwgm, 1978 i for St s=fon, 1992 < AE R, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
V Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 Fragrsa w9 # T 77 *7 1 TrraT 721 22
c. T ATEEAT bl FTE9 STSAFATES o7 9T dI F040

Q20. Which of the following is used to purify water?



‘/ Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. WoT 201 FHTET § & BT ITART 9 F7 903 F F o7 (3647 Jrar 22
c. T FAT ST FAMAT ol grEge 21 9% STEAtFET

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge \/ Decibel d. Megawatt

w7 211 At wgwor Fr "/ ¥ o et 7 @ Frerewr s B s e
A. #Hrer dnas #n e q wemETe

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 «2006

b. W 22\ ZATE 297 § B 3 wrgiy wataeor |t v s i T off
c. T 1986 = 1992 71 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 c.2014 V(EOIS

b. 23| gHTT FoT F T AT o= %1% (AQ1) B A o= 3 o ame
c. ™ 2001 #2011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?
a. 1956 \/1986 ¢. 2010 d. 2015

b. Q24| watave Hveror wfafaaw FF ) § @ Frr @ aro
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System MRespiratory System  c¢. Nervous System  d. Reproductive System Q25|
Q.25 7T TEIOT {97 it T TOrreft #° wArtAT AT g2
T 1= bl J97 gorrert # g63Er = d) I yorreft

a.
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Name - sonu kr sharma
Roll no - 389
Uni Roll no -341

GURU NANAK COLLEGE, DHANBAD
Department of Economics
Internal Examination Time:- 45Min
Paper: Xl

Public Finance

1. Non-rivalray and non-excludability are the characteristics of
M ufdeggfaar 3R IR - afgsawzor Fr fadwam g
a)Normal goods HTHATT ATHTeT b) Demerit goods BARe arATT

¢ ) Inferior goods 3TaY HTHTeT %ublie goods ATdst foTeh ATHTA
2. Which oneis not a principle of taxation:

Sl AT Teh HUUTA HT Reyrd et &
a) Principle of equality HHATeIAT bl ﬁ?{f—ﬂ?r
b) Principle ofcertaintyﬁiﬁ?-lﬂ?ﬂ Cal ﬁ%’f-ﬂ?l’
Wrinciple of morality siTciehdl T '@EFTIH
d) Principle of diversity TaTaerdar ar ﬁ'q'ﬁﬂ?l’
3. Which of the following taxes is/are withdrawn or abolished?
fAfoieaa # & ieT a1 & / AT a1 gATSd foham I g2

a. Interest tax €Tl h{ b. Egtate duty T¥CC E’ﬂ\ﬁ
c. Gift tax 39gR h{ r'All the above3¢{§|37=|'?f

4. The difference between revenue expenditure and revenue receipts is
ISTET I 3T Toreg wifeaar & o€ & 37aX &

a. Revenue deficit ISTEd HTCT iscal deficit TSI ©TET

c. Budget deficit dalc HICT d. Primary deficit 9T =rer



5. When expenditure exceeds total tax revenue, it is called:
S 4 el Y Torea § 3Tk g1 STl &, A 38 gl el o
a) Surplusbudget HTAAY g1C b) Balanced budget 'x':@ﬁ'lﬁ dalc

%ficit budget BT & Fo1c  d) None of these 18 d HIS gl
6. T

e difference between fiscal deficit and interest payment during the year is
called

Th aY & GRIeT TSI T1e 3 SATST ITdTel & &I & Il Al
gl STl &
a. Fiscal deficit JrSTINIT €T b. Budget deficit S5T¢ €T

rimary deficit ITUTH® €T d. Revenue deficit ToT&d €T
7. The differencebetween total expenditure and total receipts is

ol 4T IR Fol WICAAT & & &7 W 8
a. Fiscal deficit JTSTehISTT ©TET \yﬁudget deficit SISTc ©TeT

c. Primary deficit grafAe rer d. Revenue deficit {TsT¥d "TCT
8. Scope of public finance includes:

grgeifas f9d & ey # afAde &
(a) Public revenue ATdifeleh JoTEd (b) Public debt HTdsT{oteh 3KUT

(c) Public expenditure Ardalfoleh O All of these T T

9. The main objective of budgetingis:
SolC Tl 1 HET 36T &
a)Planning B b) Co-ordination §g HH-d

¢ ) Control faa=or %ll of these I THT

10.Education is an example of
fRT&TT ST T 3eTEor

(a)Private good faisll HTHATS (b) Public good HTd<IfeTeh HTHAT



@Aem good ITT HTHATA (d) mixed good TATAT ATATA

(a) USAYUAT J & (b)UKZ &

(c) Canada ohellST Mrance wg

12.Taxes which are based on specific qualities or attributes of goods are called

aEg3T & Taferse aqomt a1 T3t 9 ImeTRa F FHgr ST &
%eciﬁc tax Taferse T (b) Advalorem tax Hellg<hIX cag

(c) customs duty oraAr Q_]F:F (d) Excise duty 3c4Tq Q_],?cF

13- refers to refusal to repay the debt

----------------- HOT I Tl A FHN Fa I HafoTd FT &
%epudiation IGESTIET (b) Capital levy hidcel ofdr
(c) Sinking fund flAf&  (d) none of the above 3TRNFT & & HIS TgT

14 Which tax better conforms to the principle of equality in taxation
Ple] AT T gk PAUTT F TAAT & Reyia & 3T &
rogressive tax TTcr2iTel &Y B. Regressive tax TcaTAl &Y
C. Proportionaltaxilﬂ?lﬂ'lﬁ? h{ D. Fixed tax T&UT HT

15.Which is not counted as public expenditure?
58 oA OT & 9 H I81 31T SATdT 8?2
A. Subsidy given to local city bus service TUTHT AEYT hT §H FdT I &1 AT drell Hieysr

B. Defence expenditure I8 @
C. Investment spending by public companies HTdsTieleh HUfAAT @R fhar arar fAder @



Mlterestpayment on national debt. ISETY FHOT W T HITAT |

16.The Concentration theory of tax shifting and incidence was developed by

¢y TRAITUEeT AR gear 1 TahrErar Reurd earT fasfad fehar arar ar
(a) Mercantilist HehTeToEe Vphysiocratsﬁ?ﬁﬁﬂm

-~

(c) Austraian School 31\?@'&? Ehel (d) Keynesians Fraf@aT

17.Which oneof the following taxes is levied by the State Government only?

fFATaT@d # & &ieT T T hdel Vo TSN SaRT ST ST 872
Vntertainment tax HARSTT b) Corporation tax felar# &Y
¢ ) Wealthtax do¥J ¢aq d) Income tax SeThdl g

18.In India, personal income tax is levied on individuals by:

R H, ITFadl SaRT cTTFdaITd IR ST Sl &
%ntralGovernment $g TIPR b) State Government ITad HIHIX
¢) Local bodies AT faara d) None of these) 378 & IS g

19.The Classical economists asserted that publicexpenditureis:

QMEAT 37NATETAT ¥ &gl foF ATaATah I &

A) Unproductive Hﬂ?qlﬁiﬁ B) Productive 3c4Tceh
%stagnant [F32K8 D) All of these I T

20.The tax levied by the union government on income of individuals is known as

ITFAAl I AT W ehg DR GART SEMAT IRAT I o &9 H SAAT STl

d



%ersonal income tax SATFAITT ITTHT b. Interest tax sAToT &I
c. Wealth tax &eT & d. Corporation tax fe9TeT X

21.Public Expenditure increases
ATdSifoleh <O 96T &
(A) Interest rate sdTaT Y %mployment AR
(C) Exports IGRIGI (D) Imports 3TATA
22.Who is the author of the book “The Theory of Public Finance™?
Trdstioies fad 1 fAeuid” q¥ds & o @il g2

a) Dalton STecd MA Musgrave 3R T Jfla'Fl?jH

¢) A.R. Prest UI&C d)Harvey Rosen E'Iﬁ( ypare)

23.These are principles of taxation:
T FYT & FAgyTd &
A. Principle of equality EHTAAT T FacTd
B. Principle of certainty faTardar &1 f&cemd
C. Principle of secrecy ST &1 FAgHTd
Véoth (a) & (b) Glar (T) 3R (&)
24.According to Musgrave the major functions of public finance is:
AET & IHR Adsiieleh fad & 9HqT F &
a) Allocative function Tellehied Harelel

b) Distributive function %ﬁ%alﬁ_d arerel
¢) Stabilisation function TEIYHIOT TARE

%ll the above 39eFd THT



GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
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Time: 45 minutes
All questions are compulsory
Choose the correct answer

Q1. Which one of the following wf resource are minerals?

a. Renewable on-renewable c. Biotic d. Flow

o1 =t & & 19 |7 5arae @ = 22
Tl FFT §| e-AdEetE Jh SE@Ew da9g

Q2.8 energy can be put in which category?

Replenishable b. Human Made c. Abiotic d. None of the above

b. Q21 FT HaAT & & #oft § T@&T o1 Fha1 52
c. Tl Replenishable | #Hg AT o1 vfagifes & sma g #E ff 780

Q3. What is the main cause of Land Degradation in Jharv

a. Over Irrigation b. Mining c.Weforestation d. Overgrazing
b. 03I FEE § g ZTH T T=F F1IT FT 22
c. Ul HAET A &N @aa f#h a4t T wEE d=19E

Q4. What Percentage of our land shoulgebe under forest?
a.22.5% 1% c.33% d. 30%

Q4| ST F = ZATT SIfH &1 wiaerd fra=r gAr F1fR w2
a.225% bl 31% 1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Lgmd Degradation?
a. Punjab b. Haryana c. Uttar Pradesh %adhya Pradesh

#q 5 fwfofaa # & G oo # = F=rs i F srrire 5 oo e a8 22
TIUSTE bl FRATT ¢l IAT AL dI H8T W29

Q6. Which of the following is novic resource?

a. Flora ’ Rocks c. Fauna d. Fisheries

06| st # & #19 |71 v SfaT o= 781 g2



U ¥ART bl FgHT =T BAT 71 AT 97

Q7. The st abundantly available fossil fuel is-
%)al b. Petroleum c. Natural Gas d. None of the above

F 7\ g9 AT ITAY SAraTew Lo 2-
U FEET bl WEifemy @ wRE i o ww a we of a8

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax %e

5T 81 T AT U2Trora® 7 {3 Ieare T8 22
Tl S9E bl FEA ¢l A dI 2

Q9. Whichyone is not a non-conventional source of Energy?
Coal b. Solar energy c. Wind Energy d. Tidal Energy

T5T 91 FIF AT Fu11 HT U I-TAF &I T81 872
Tl HISAT bl A FAT ¢l T99 Sl dl AT Feft

Q10. Which one is not a cause of Air Pollution?
a. Paper factories b. Brick Kilns c. Refineries %&xtﬂe Industries

w7 101 7 AT UF AT TZIT FT FTLT 721 22
T| FE FEE A1 T2 AT ol e g FAET IR

Q11. Which one is a cause of Thermal pollution?
a. Dust b. Hot water Smoke d. Fossil Fuel

T 111 TTHA TZHT FT UF FET FIF 97 52
Ul g AN T AT ol g3 d) St Sge

Q12. Which of the following disease is not caused by Noise Pollution?
Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

Q121 f3% 7 | &7 AT TRT 911X TgUT F FIT A5l &2
T\ 9 T 1) & FT 3T 98 T ! 592 g7 4| fifermr

a. Medicines

Q13. Which of the following is not provjled by forest?
ood grains c. Wood d. Gum



b. 71 13| FafeEd & ¥ #i9 sivre g 9@ 981 i smar g2
c. W EEATE bl @& cl dF:T dl T

Q14. Whicjpof the following is not a source of Fresh water?
Sea b. River c. Lake d. Pond

b. T 14| =ferfea & & F19 91 arer 91 &1 Jid J8f g2
c. T AR T A4 cl A 4l e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c. Atmosphere iosphere

b. Q 15. & & HAT F7 AT 1A &
c. T g fET bl SEEEA ol ATgHEET ) FrsiEw

Q16. Which of the following gases Vpomsible for thinning of ozone layer?
a. Carbon Dioxide f16

b. T 16| A= 99d & Td 217 & (o0 HHfeiad § ¥ #1 |1 19 orHew g2
c. Tl FET TEAFES & FAAFALFET ¢l ATsere dl gTEgie

Q17. On which day World Environment Day is celebrated evgry year?
a. 11" July b. 10" Dec %“ June d. 5th July

b. w171 g qataw fGaw g7 | fFw &9 qemar smar 82
c. WA bl 10 fFHaT c597 1152

Q18. When and where ‘Earth Summit’ was held?
a. Tokyo, 1972 b. Stockholm, 1978 %de Janeiro, 1992 d. New

Delhi,2002

b. 97 181 and ¥ |4z 'Fa 3T gl Ao fFar =2
c. W, 1972 &1 w=iwem, 1978 =1 foar v sfaar, 1992 @ =2 fiwsft, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
' Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 Fegrsa waTa & & 79 &7 1 THEH T3 22
c. T ATESS bl FTE9 et o €199 dI F=Rr

Q20. Which of the following is used to purify water?

hlorofluorocarbon ¢. Nitrogen d. Hydrogen



%hlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w7 201 Faferfera & & fraesr soaer ol #1 9F F2 F oo ey sar g
c. Tl FAEIA &1 AAMAT I FRSEA S Gohe SEAFEREE

QZLW of the following is used to measure noise pollution?

. Meter b. Gauge c. Decibel d. Megawatt

w1 211 £afa ygur F 71 F foro Fefefeaa § & B swm B smar g
A, #ew @ TS #h EfEe Q) amEE

Q22. In which year National Environment Policy was annouchur country?
00

a. 1986 b. 1992 c. 2001 6

b. W 221 AT 391 § G av g aataor Aifa £ = §i € off2
c. T 1986 = 1992 #HT1 2001 di 2006

Q23. In which year National Air Quality Index I) was launched in our country?
a. 2001 b. 2011 2014 d. 2015

b. 0231 ZHTL 29T § Y I a1 g=i+ (201) | a9 = Fmm wam a72
c. W 2001 112011 112014 412015

Q24. In which year Environmgpt Protection Act was enacted?
a. 1956 %‘86 c. 2010 d. 2015

b. Q24| gataer g sfafAgw e af § @ BT m@m g12
c. Tl 1956 =11 1986 #T1 2010 dI 2015

Digestive System espiratory System c. Nervous System  d. Reproductive System Q25|

Q.25 3T U 7TE o1 it R et i gerEad #ar g2
T TS &7 bl F99 YOt |7 dEFET = a1 IS qorretr

a.

Q25. Air pollution affecp which system of human body the most?

sk sk sk ok ok sk skoskoskoskok shoskok skeskok ok sk skskock sk skok skckok ok
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Mid-Semester Internal Examination: 2020
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Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable b. Non-renewable c. Biotic dy

o1\ FTeried ¥ | 19 A7 49749 A= 22
T F9F | AT °T AEE dl T2

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made (Vbiotic d. None of the above
b. Q21 HT FoT & e Avft § v 57 7hat 82
c. Ul Replenishable | #97 Affda 1 ufamifes & maa s 7

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Over Irrigation b\ining c. Deforestation d. Overgrazing
b. Q31 FTET F ¥ ZT9 FT =T T T 82
c. T HET AT J o maT '/ FE A R dl =S

Q4. What Percentage of our land should be under forest?

2.22.5% b. 31% %3% d. 30%

Q4| ST F A gETr Gfy #1 wierera Graar g TR
a.225% bl31% #7133% dl 30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh wadhya Pradesh

77 5\ fawfafaa § & G orog 7 = F=rd 9ff ¥ srre % o G =25 20
T USTE bl FRATIT ¢l 3T TG dI F2T T&9T

Q6. Which of the following is not a biotic resource?
a. Flora %roks c. Fauna d. Fisheries
06\ Feferfera # & wi a1 uF St dareay 78 22



T| WART bl FETET HTBEAT 1 OASEHT T

Q7. The most abundantly available fossil fuel is-
a.v{al b. Petroleum c. Natural Gas d. None of the above

7 7| FIH ATAF TTAT SAATH SU 2-
Tl FIAT bl TSIER =T IHF T9 dl 3987 F F: 77 T80

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax dgﬁe

=T 81 FI AT Y2iteray #7 7§ Iewrs TE 22
T 9 bl FAET ¢l AT dI [

Q9. Which one is not a non-conventional source of Energy?
a. Coal \bﬁolar energy c. Wind Energy d. Tidal Energy

T Q1 FIF AT ST FT UF I-TEAF R TH 22
T FTAT bl €T AT ¢l Ta9 S5 dl SATHT S50

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d.\J£xtile Industries

757 101 FI9 AT UF AT TETT FT FTET TE 22
T FO FEE AN fE A ol e g wET 3=

Q11. Which one is a cause of Thermal pollution?

a. Dust b. ]—Water c. Smoke d. Fossil Fuel
o7 111 T TET T T FTL FH AT 22

Tl AT TH AT ol gAT dI STETeR Tu
Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure M aundice

Q121 f99r ¥ & == |T T 917 T F FT07 7L 22
T A9 F &7 & Fit 77 97 qET o) =2 g7 41 G

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c. Wood d. Gum



b. w131 FHEd & § F19 90 g7 W8T 981 697 A1a1 22
c. WEATT bl @TATH cl dF3T 4l TH

Q14. Which of the following is not a source of Fresh water?

%ea b. River c. Lake d. Pond

b. T=T 14| FFwfei@a & | F19 97 arer 91 F7 |09 T80 g2
c. T AR T 74T cl e dI aree

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere ¢. Atmosphere Vosphere

b. Q 15. & T AHAT FA ATAT A4 2
c. U raehaT o SEHST ol ATTHSA ) FrafEws

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide bACHAlorofluorocarbon ¢. Nitrogen d. Hydrogen

b. W 161 AT 9d F T B % (of g § & &I #4719 e 22

c. U FET ITEAFAES S FAFARFET ¢l ATsere dl grEgre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c.5" u d. 5th July

b. W 171 frea watao feaw g arer o & gemar smar 82
c. U1 FATE bl 10 fEFaT 55T &5 qATE

Q18. When and where “Earth Summit” was held?

a. Tokyo, 1972 b. Stockholm, 1978 C. Wlaneim, 1992 d. New
Delhi,2002

b. ¥ 181 And A AW ‘g AT Fgl ATFTTIG 64T TAT?
c. W, 1972 #f wErwagm, 1978 #i frar f swfar, 1992 Fh AE fawsft, 2002

Q19. Which of the gases does not have any contribution to “‘Greenhouse effect’?

a. Nitrggen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 Hi=grsa waTa § FF 9 #1 F1E T 921 22
c. Ul ATE2r" bl FTE9 STEAtFATEE 1 €199 dI F9r

Q20. Which of the following is used to purify water?



a%hlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w1 201 FwfertEra & & Fer s ot #i gz w2 % Fro e smar g
c. Tl FAEIT ST AAMAAT I FEIEA ST Tohe STTAFEE

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge C. Ixébel d. Megawatt

wor 211 gaf= gguer w1 7o F o AwfEtag § & G s G smar ge
A. #ew @A =@ EFEEE d EEmEre

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 Mooa

b. W 22| TATY 297 ® 39 3 g qataeor At i Jroo it T 62
c. T 1986 T 1992 #T1 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 0%14 d. 2015

b. 0231 T 397 H TEA AT [0ra=1 T=%1% (2Q1) e a7 o= Frar a2
c. ™ 2001 112011 #2014 412015

Q24. In which year Environment Protection Act was enacted?
a. 1956 «1986 c. 2010 d. 2015

b. Q24| TATFTY T FtaAa Frm a7 § 1 B 4T 412
c. T 1956 11 1986 112010 4l 2015

Q25. Air pollution affects which system of human body the most?

Digestive System b.Vépiratory System  c. Nervous System  d. Reproductive System Q25I
Q.25 3T TFU 71T o7 ¥ B g i wavad Far 22
T TSR @ bl FEF TOTSAT  H| FEET E a1 IS yorrer

d.
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Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
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Choose the correct answer

Q1. Which one of the following type of resource are minerals?

a. Renewable %ﬂ—renewable c. Biotic d. Flow
01\ Faferfea o & & |1 59T+ 2

Ul I4T F| FL-AFHT o7 SEF dl T8

Q2. Solar energy can be put in whichgcategory?

a. Replenishable uman Made ¢. Abiotic d. None of the above

b. Q21 FT HoAT Hf B 4vff § ¥&r T 7ha1 82
c. T Replenishable o #Taa AT o1 ufamfes &1 2o & #rg oft 75

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Over Irrigation ining c. Deforestation d. Overgrazing
b. Q3| FYET | T T FT =T FILT FIT 22
c. W AET A dT @A f1 F49 A FET dl A

Q4. What Percentage of our land should be under foreg
a.22.5% b. 31% . 33% d. 30%

Q4| ST F AT AT SIIH F7 wiaera e g FrfEe?
a.225% bl 31% #T133% dl30%

Q5. In wiych of the following states Over Irrigation is not responsible for Land Degradation?
unjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

F7 5\ fawfortaa § 7 F wrs7 7 f=re F=E 9 s F oo Geaem 1@ 22
T USTT bl ERATOT ¢ 39T IE9T dIl TET T=9T

Q6. Which of the following is not a biotic resource?

a. Flora b. Rocks c. Fauna %sheries

061 Faferfee & & & a1 v SfEw qare 981 22



T FART bl FETAT 1) BAT =) HSEAT T

Q7. The grost abundantly available fossil fuel is-
%loal b. Petroleum c. Natural Gas d. None of the above

F 7| T ATAF THA SAATIT E9 2-
U| FTAT bl T2iferam =t wTFERF T dl 290 | Fe A 19

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax %te

57 81 FI AT Yarteray F1 {7 Ieure Ag £2
T ETA bl FART cl W dl &

Q9. Which one is not a non-conventional source of Energy? «
a. Coal b. Solar energy c. Wind Energy . Tidal Energy

T Q1 I AT AT &7 U A7-qqF & 921 22
T FIAAT bl AT FAT ¢l Ta9 FHaAl  dl SAT ST

Qlﬁ.y one is not a cause of Air Pollution?
aper factories b. Brick Kilns c. Refineries d. Textile Industries

w57 101 FIT AT U AT T FT FHTLT T3T 22
T| FTS FEETE &7 52 gl ol FwrEadsr 2 F7Er 32

Q11. Which one is a cause of Thermggp pollution?
a. Dust . Hot water c. Smoke d. Fossil Fuel

o7 111 =THT TETOT T T FTL R AT 22
T gel ST TE O ol ger dl SfraTed Sa
Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure Mundice

Q121 7 ® F &I+ AT T 97T T F FILT AL 22
T\ 77 T AT 2 it 7T 97 AT o) =2 9w a) fiferar

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c. Wood yum



b. 113 FaffeT & & # Swe g va= 728 B amEr g
c. T ZFATT bl @TATH | THT dl TH

Q14. Which of the following is not a source of Fresh water?
a. Sea b. er c. Lake d. Pond

b. 71 14| Fafefaa § 7 #1159 UTHT T HIT A2l 22
c. T ART | 947 cl e 4l arere

Q 15. The life supporting sphere is:

a. Lithosphere b. Hydrosphere %nosphere d. Biosphere

b. Q 15. &3 T AWIT F7 FTAT 147 2
c. T RMFRAT bl T | ATgEEA dl FrerfEws

Q16. Which of the following gases is responsible for thinning of ozone layer?
a. Carbon Dioxide J

b. W 161 A 974 F T 21 % oo fReferfaa § & w1 =1 19 s 2

c. T FHET ITEAFTES S| FALNFAFET ¢l 52T dl FEge

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 3" Ifhe d. 5th July

b. W 17\ g wataww fGew g7 a1 e & gamar 8?2
c. W1 AT bl 10 GFHaw ¢ 5597 N5 =TS

Q18. When and where “Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 %de Janeiro, 1992 d. New
Delhi,2002

b. T 18| And A ATHZ & 37 gl ATATIerg =HaT I4T?
c. W, 1972 @t wErwgm, 1978 #Y for f swfar, 1992 St AT fiw=ft, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
witrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

. 0191 FETsT w91 § {367 797 7 FTE T0TeTT T2 22
c. TIATEEST bl FT99 STEAFATZS T HH&9  dl F090

Q20. Which of the following is used to purify water?

hlorofluorocarbon c. Nitrogen d. Hydrogen



a. Chlorine JKmmonia c¢. Hydrogen d. Sulphur Dioxide

b. W=7 201 Fraferf@a # & BT Swrer art #1 9 7 % oo BT smar g2
c. T FAHT AT AHMAAT ¢l RSO ST T06HT STTAFTEE

Q21. Which of the following is used to measure ngise pollution?
A. Meter b. Gauge %%Cibel d. Megawatt

wox 211 gaf= sguer & ' F o Aefafaa & & G s G s ge
a. ®ew #nas #h e q wmEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 wt)z c. 2001 d. 2006

b. W 22| FHT 39 § hF a9 T80T TATE0 Afa ¥ = it 1€ 472
c. T 1986 I 1992 #Tl 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 c.2014 015

b. Q23| AT 39 F T AT =T %1% (201) e o o= s 412
c. T 2001 =T12011 +T12014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 . 1986 c. 2010 d. 2015

b. Q24| TATFTI ¥ Atert=e G a & =13 F = 912
c. T 1956 =11 1986 #T1 2010 41 2015

Digestive System . Respiratory System  c¢. Nervous System  d. Reproductive System Q251
Q.25 AT TEOOT AT o7 i e st #°r werag wvar 22
T 9T=F G b FHGT YTt HTAEET S d) T TorTett

d.

Q25. Air pollutiycts which system of human body the most?
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory

Choose the correct answer

Q1. Which one of the following type gf resource are minerals?
a. Renewable %ﬂ-renewable c. Biotic d. Flow

o1\ Fferiea ¥ | 9 A7 49749 Ji=a 22
Ul F9g | - ARy | AEE dl T

Q2. Solgr energy can be put in which category?
Replenishable b. Human Made ¢. Abiotic d. None of the above

b. Q2| HT FHWAT il [ Aot H T&T ST 7T 52
c. Ul Replenishable ™ 797 AT 1 ufamifes & s a g St 7

a. Over Irrigation b. Mining eforestation d. Overgrazing
b. Q31 FTET § G 17 FT T=T T F4T &2
c. T AET A AN @A 7 39 i FwerE dl =19

Q4. What Percentage of our land shouldgbe under forest?
a.22.5% % c.33% d. 30%

Q4| ST F Hr= ZATET S/ &7 wiaerd Fraar g a2
a.225% bl 31% #1133% dl30%

Q3. What is the main cause of Land Degradation in Jha&l?

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

77 5\ fawfofaa § & G orog & f=me f=rs afs ¥ srire % o e =2 22
T USTE bl FRATIT ¢l 3T TG dI FET T

Q6. Which of the following is not a biotic resource?
a. Flora ' Rocks c. Fauna d. Fisheries

061 et § & #19 |71 UF Sf3F Fara" 181 g2



T| WART bl T HTBEAT = ASEHT T

Q7. The gost abundantly available fossil fuel is-
%:’al b. Petroleum c. Natural Gas

7| HIH ATAF TTAT AT S9 2-
Tl FIAT bl TZIOEH || IHAF T9 dl 3987 7 F:s A7 T80

d. None of the above

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute “

TS 81 F AT YT T 13 e A &2
T A bl FAET cl AW dI 2

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy

w7 91 T T UF AX-TTEIF HIT Tl 82
T FTAT bl A FAT ¢l T99 Sl dl ST SHS T

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries

w57 101 FT9 AT U AT T FT FTET TET 22
T FO FEET AN fE At ol e g wET 3=

Q11. Which one is a cause of Thermal pollution?

d. Tidal Energy

d. %3 Industries

a. Dust b. Hot water C SmoV d. Fossil Fuel

w57 111 AHT T FT UF FTI0T FT AT Z2
Tl g AN TH A ol g7 dI SATed S

QlZ.&n of the following disease is not caused by Noise Pollution?

earing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

0121 {351 ® & #1= AT T 971¥ T F FTE0T AL 82
T 79 9 &7 &F i 27 a7 ST o) =2 Yo7 d) e

Q13. Which of the following is not provided by fogest?
a. Medicines b. Food J c. Wood d. Gum



b. W 13| Fafefa & ¥ #9 S g797 T&T9 781 647 a1 22
c. T FATT bl @TATT cl TFET 4l TH

Q14. Which of the following is not a source of Fresh water?

a. Sea b. River c. Lake d. Pond

b. w7 W wferfea & & 19 a7 arer 7T #7 =Hq T2l 82
c. T AR T A4T cl =@ dI aree

Q 15. The life supporting sphere is:

a. Lithosphere b. Hydrosphere c Atwere d. Biosphere

b. Q 15. &= T AHAT FA ATAT A4 &
c. T FIwhAT bl FEHEA ol ATIHEA dl FrAEET

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlgfofluorocarbon c¢. Nitrogen d. Hydrogen

b. T 16| AT TIF & T 21 AT (AHierad § 7 & #7 i7 Seew 22

c. T FET TEAFAES AT FARTFALFET ¢l ATsareA dl ZTEg e

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec R d. 5th July

b. W 17\ g matawor fGmw g7 a1 e & wemar smar 22
c. W FATE bl 10 FHaT c59F 15 TS

Q18. When and where ‘Earth Summit’ was held? M
a. Tokyo, 1972 b. Stockholm, 1978 c. Rioyfe Janeiro, 1992 d. New

Delhi, 2002

b. T 18| And AT F(H= 'Fa T Fgt ArgIiorg B 1T
c. W T, 1972 #f wErwaw, 1978 #f foar f swfvar, 1992 ¥ A% fiweft, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect™?
a. Nitrog b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. Q191 WIHET3H TATA | T 7 #7 FIe TR1ETF 781 82
c. T ATEET bl FTE9 STSAFATEE o7 H99  dI F00

Q20. Which of the following is used to purify water?



a. Chl% b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w27 201 FafefEa & & Frsr ST ot 1 92 99 % oo G smar e
c. T FAEIA AT AAAAT I RSO ST GohT STTAFEE

Q21. Which oyllowing is used to measure noise pollution?

A. Met b. Gauge c¢. Decibel d. Megawatt

wox 211 gaf= gguer w1 7o F oo FefertEa & & G s G smar ge
A. #ew dMaw =@ EEE| ) EmEre

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 d. 200y
b. W 221 ZATY 397 § 3 3 gy wartaor A v aroo £ 1 o
c. T 1986 = 1992 T 2001 4l 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 c.2 d. 2015

b. 0231 9T 39 H TEA AT [0ra<T (ro1) FoFm o 9= o T a2
c. T 2001 &1 2011 #T 2014 41 2015

Q24. In which year Environment Protection Act was enacted?
a. 1956 b. 1986 c. 2010 d. 2015

b. Q24| TATATI HTET T a7 F &y e T are
c. T 1956 11 1986 T 2010 4l 2015

Q25. Air pollution affects which system of human body the most?

Digestive System g b. Jfespiratory System c. Nervous System  d. Reproductive System Q25|
Q.25 1T TZUm orfie FY e worreft v waAraa wwar 22
T 9T=9 G bl F9F YTt A7 AEET T d) TS Tt

a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory

Choose the correct answer

Q1. Which one of the following type of resource are minerals?
a. Renewable %on—renewable c. Biotic d. Flow

o1\ Fferiea ¥ | 9 A7 49749 Ji=a 22
Ul F9g | - ARy | AEE dl T

Q2. Solar energy can be put in which category?

« Replenishable b. Human Made ¢. Abiotic d. None of the above
b. Q21 HT FST &l & Avft § v v 7har 82
c. Ul Replenishable ™ 797 AT 1 ufamifes & s a g St 7

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Over Irrigation ining c. Deforestation d. Overgrazing
b. Q3| FTET § G 17 FT =T T T 82
c. T AET A AN @A 7 39 i FwerE dl =19

Q4. What Percentage of our land should be under forest?
2.22.5% b. 31% %3% d. 30%

Q4| ST F A= gAY GfF #1 wiaerd Fraar g A2
a.225% bl 31% #1133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh - Madhya Pradesh

77 5\ fawfofaa § & G orog & f=me f=rs afs ¥ srire % o e =2 22
T USTE bl FRATIT ¢l 3T TG dI FET T

Q6. Which of the following is not a biotic resource?
a. Flora ” Rocks c. Fauna d. Fisheries

061 et § & #19 |71 UF Sf3F Fara" 181 g2



Tl AT bl TG #HT BT =N TZAT T

Q7. The most abundantly available fossil fuel is-
wCoal b. Petroleum c. Natural Gas d. None of the above

7| HIH ATAF TTAT AT S9 2-
Tl FIAT bl TZIOEH || IHAF T9 dl 3987 7 F:s A7 T80

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax %Jte

75T 81 FIT AT YT F 7 IeUTE TH £2
T A bl FAET cl AW dI 2

Q9. Which one is not a non-conventional source of Energy?
%oal b. Solar energy c. Wind Energy d. Tidal Energy

5T Q1 FIF AT ST FT UF I-TTAF &= T2 82
T FTAT bl A FAT ¢l T99 Sl dl ST SHS T

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries %I‘extile Industries

w57 101 FT9 AT U AT T FT FTET TET 22
T FO FEET AN fE At ol e g wET 3=

Q11. Which one is a cause of Thermal pollution?

a. Dust %—I(}t water c. Smoke d. Fossil Fuel

w57 111 AHT T FT UF FTI0T FT AT Z2
Tl g AN TH A ol g7 dI SATed S

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure wlaundice

0121 {351 ® & #1= AT T 971¥ T F FTE0T AL 82
T 79 9 &7 &F i 27 a7 ST o) =2 Yo7 d) e

Q13. Which of the following is not provided by forest?
a. Medicines b. Food grains c. Wood %}um



b. W 13| Fafefa & ¥ #9 S g797 T&T9 781 647 a1 22
c. T FATT bl @TATT cl TFET 4l TH

Q14. Which of the following is not a source of Fresh water?

« Sea b. River c. Lake d. Pond

b. w7 14\ FwferfEa & & F19 a7 arer 71 #7 =Hq T2 82
c. T AR T A4T cl =@ dI aree

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere ¢. Atmosphere ﬁiosphere

b. Q 15. &= T AHAT FA ATAT A4 &
c. T FIwhAT bl FEHEA ol ATIHEA dl FrAEET

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide " Chlorofluorocarbon c¢. Nitrogen d. Hydrogen

b. T 16| A 93d % qaqe 2 % forg et # & i 1 19 Sreaem 22

c. T FET TTEAFATES &) FARNFALFRET ¢l ATsere  dl ZTEgre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec 5™ June d. 5th July

b. W 17\ g matawor fGmw g7 a1 e & wemar smar 22
c. W FATE bl 10 FHaT c59F 15 TS

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 %ﬁo de Janeiro, 1992 d. New
Delhi,2002

b. T 18| And AT F(H= 'Fa T Fgt ArgIiorg B 1T
c. W T, 1972 #f wErwaw, 1978 #f foar f swfvar, 1992 ¥ A% fiweft, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect™?

” Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 FFETSH 1T § e 77 %7 F7E A== 727 22
c. T ATESroA bl F1E9 STEAFATEE o HI99 dI F=Rr

Q20. Which of the following is used to purify water?



\/ Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w27 201 FafefEa & & Frsr ST ot 1 92 99 % oo G smar e
c. T FAEIA AT AAAAT I RSO ST GohT STTAFEE

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge v/ Decibel d. Megawatt

wox 211 gaf= gguer w1 7o F oo FefertEa & & G s G smar ge
A. #ew dMaw =@ EEE| ) EmEre

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 \/2006

b. W 22\ gAY 397 § 3 7 gy wartawor Aifa v s & g ofi e
c. T 1986 = 1992 T 2001 4l 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 \/2014 d. 2015
b. Q23| THTL 39T | TG AT 0ra<T =1+ (A1) e a9 g= e aram a2
c. T 2001 &1 2011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?
a. 1956 V(1986 c. 2010 d. 2015

b. Q24| ALY HTAW FAfAT=TH G a7 § &) B 137 472
c. T 1956 11 1986 T 2010 4l 2015

Q25. Air pollution affects which system of human body the most?

Digestive System %Respiratory System c. Nervous System  d. Reproductive System Q25|
Q.25 3T TZU 7T 97 ¥ B qurret i g9rad Far 22
T 9T=9 G bl F9F YTt #7 AEET T d) TS et

a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable b. Non-renewable c. Biotic d. Flow
QW%@—« & & T AT T At 2
T F9g | AT-FArwug |41 AEE dl T8

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made ¢. Abiotic d. None of the above
b. Q21 HT FST & & Avft § v 51 7hat 82
c. Tl Replenishable I 9TF AT =1 ufEertes 7 @a T #2 1)

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Over Irrigation b. Mining c. Deforestation d. Overgrazing

b. Q3| =TTET ¥ i g #r qe T 82
c. T AT e AN maa W FET A werE dl =99

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% c.33% d. 30%

Q4|%w%mg&rmrﬁmﬁmm@mmm
a.225% bl31% #1133% di30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

ﬂSWéﬁﬁ?ﬁﬁ%ﬂWﬁﬁaﬁﬁaﬁﬂﬁr%m%ﬁmﬁWHﬁé?
T USTE bl ZRATIT ¢l 3T TG dI F&T 09T

Q6. Which of the following is not a biotic resource?

a. Flora b. Rocks c. Fauna d. Fisheries

061 et § & #19 |71 UF Sf3F Fara" 181 g2 ¢



Tl AT bl TG #HT BT =N TZAT T

Q7. The most abundantly available fossil fuel is-
a. Coal b. Petroleum c. Natural Gas d. None of the above

ﬂ?lvﬁmmaeﬁmm%mr%
Ul FIAT bl TZIOEH || ITHAF 9 dl 3987 F F:s A7 T80

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax d. Jute

=T 81 FIT AT Y2iteray #7 3 Ieorg TE 22 \/
T A bl FAET cl AW dI 2

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy d. Tidal Energy

wqglﬁfmmwwﬂ*{-mﬁﬁﬁﬁﬁﬁﬁé?
T FTAT bl AT FAT ¢l Ta9 HA1 dl ST SS T

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Textile Industries

W¥1mea@mwwq‘€fé?
T FOS FEET AN fE A ol e g FET 3=

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke d. Fossil Fuel
T 111 =TT TEOT T T FTOT g2

Tl g AN TH A ol g7 dl SATed Sue
Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

0121 Frer & & F AT T o117 g F FTOT A 32 \/
T 397 2 A7) &7 T 3T 9% qE o) 42 Yo7 | e

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c. Wood d. Gum



b. w131 FafiET & & F9 S§9a g7 98T 981 647 Jar 22
c. T FATT bl @TATT cl TFET 4l TH

Q14. Which of the following is not a source of Fresh water?

a. Sea b. River c. Lake d. Pond

b.w14|ﬁaﬁrféﬁﬁﬁaﬁ?mm@rqﬁsﬁrsﬁ?r@ﬁ%?
c. T AR T A4T cl =@ dI aree

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere ¢. Atmosphere d. Biosphere

b. Q 15. &= T AHAT FA ATAT A4 & \/
c. mFraEfaT bl SEEEA ol ATgEET ) FtsnEws

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c¢. Nitrogen d. Hydrogen

b. T 16 @Gﬁ?m%wﬁ@éﬁﬁqﬁﬂﬁ{f@ﬁﬁﬁﬁ??ﬁﬂﬂﬁtﬁm%?

c. T FET TTEAFTES &) FANFALFRET ¢l ATsere  dl FTEgre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5" June d. 5th July

b. wﬂﬂﬁwwﬁmﬁawaw%wﬁ?wwvﬁwé?
c. W11 FATE bl 10 BTHEaT ¢ 5T N5 TAE

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 ¢. Rio de Janeiro, 1992 d. New
Delhi,2002

b B a&m’mﬁtﬁ?wﬁﬁﬂw\éw
oo m A, 1072 & e, 1078 Fr € wf, 1002 4 7S R, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect™?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 191 Frersd wora # B i %7 1€ TRrE 75 22 \/
c. T ATEET bl FTE9 STSAFATEE o7 H99  dI F00

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b 20| Faferfaa & & frsr s ot #9299 % oo G smar g
T FAE AT AAIAAT ¢l Eresed 31 7% STSAass

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge ¢. Decibel d. Megawatt

T 211 SAf S 81 AT 3 o PRt R e s e s i
A. #ew dMaw =@ EEE| ) EmEre

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 d. 2006

b. W 22\ gAY 397 § 3 ot Ty warfaor i i T2 A2
c. W 1986 T 1992 #HT1 2001 oI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 c. 2014 d. 2015

b. Q23|m%3rﬁnﬁwmm%ﬁ(ml) o & o= fear T a9
c. T 2001 &1 2011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?
a. 1956 b. 1986 c. 2010 d. 2015

B Q24|Wmvmmﬁﬁm%mwm?
c. T 1956 11 1986 11 2010 dl 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c¢. Nervous System  d. Reproductive System Q251
Q.25 3T TZUT /T i Fr worredt = wehET Fear 22
T 9T= G bl =W TorTett ' G S d) IS Tt

a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020

Semester-VI CC: XIV-Environmental Economics

Time: 45 minutes SY\!J/\Q‘ K J Ynm

All questions are compulsory | % 0 3 Bl 0] 3 3 39 %A -IE
Choose the correct answer ‘:_—C 0 ( ‘-__\ 0 v\g 1 KD" _2[3

Q1. Which one of the following type of resource are minerals?
a. Renewable b. Non-renewable\/ c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable v/ b. Human Made c. Abiotic d. None of the above
b. Q21 T HAAT & e Fofy § T&T ST TehclT 82
c. Tl Replenishable S AW AT ot ufaafes & a0 F #2 oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Over Irrigation b. Mining v4 c. Deforestation d. Overgrazing
b. 031 \@EE | A ZTH T q&T FHTL0T T 32
c. T AET AR AN @aq H aq il f FwErE dl =T4E

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% ¢.33% V d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.22.5% bl 31% ¥ 33%/ dl 30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pr;\l};:sh d. Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c. Fauna d. Fisheries\/
06| FFeferfed # & %= a1 v Sfas J91e+ 951 62



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
a. Coal b. Petroleum c. Natural Gaé/ d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax v d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy d. Tidal Energyy/

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories \/ b. Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139

Q11. Which one is a cause of Thermal pollution?
a. Dust b. Hot water c. Smoke d. Fossil Fuel v

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundicey/

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?
a. Medicines / b. Food grains c. Wood d. Gum



b. W 13| Ruferfaa & & ®9 Svre g7 yam 981 sar g2
c. T EAU bl GETA cl dFst dI T80

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d. Pond /

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere ¢. Atmosphere vood Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl SAEEA ol ATgEEA dI STeeEsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon V4 c. Nitrogen d. Hydrogen

b. T 161 AT 92d & Tdo g & forg Faferfed & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5" June / d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c¢. Rio de Janeiro, 1992 \/ d. New
Delhi,2002

b. I 181 And 1 TH " 3T gt Arariora frar e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
a. Nitrogerv b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1899 dI F=ar

Q20. Which of the following is used to purify water?



a. Chlorine V/ b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESA S| Jo% STEAaTES

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge c. Decibel/ d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa ) wmEE

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 d. 2006 V4

b. T 221 0T 397 § Fohe a g wartaeor Hifa it =roor 6t 7 ofF 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 c. 2014\/ d. 2015

b. 0231 ZHTE Z97 | TP AT UTET TAHIF (AQT) e A & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986\/ c. 2010 d. 2015

b. Q24| waiaxey g0 stafaaw o v § ary o e
c. T 1956 11 1986 #T1 2010 dI 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System/ c. Nervous System  d. Reproductive System Q25|

Q.25 AT TEU AT &7 FiT T TOTTetT i orferd F2ar g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett

a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable . Non-renewable c. Biotic d. Flow

Q1| Fferied ¥ | F19 A7 49749 A= 22
U g9F | AT | AEE dl T2

Q2. Solar energy can be put in which category?

a. Replenishable . iman Made c. Abiotic d. None of the above
b. Q21 HT FST & & Avft & ¥ 57 Hhat 7 B2
c. Ul Replenishable I #7 Affda #f ufamifes & mma s S

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Over Irrigation b. Mining c. Deforestation d. Overgrazing
b. Q31 =FEs ¥ Gf¥ g 1 =7 FAT 2
c. T HET A ot omaa oy g A RS g =

Q4. What Percentage of our land should be under forest?

a.22.5% '31% c.33% d. 30%

Q4| ST F A gET Gfy #1 wierera Graar g TR
a.225% bl31% #1133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Lagd Degradation?
a. Punjab b. Haryana c. Uttar Pradesh adhya Pradesh

F7 51 FFafataa & 7 fra e # fEr = 9f ¥ g ¥ Fo G 78 22
T USTE bl FRATIT ¢l IAT TG dI FET T

Q6. Which of the following is ngg a gbtic resource?
a. Flora . Rocks c. Fauna d. Fisheries

06| et ¥ & #19 |71 UF Jf3F F9ra" 981 82



T| WART bl T HTBEAT =1 ASEHT T

Q7. The most abundantly available fossil fuel is-
- b. Petroleum c. Natural Gas d. None of the above

Fg 71 T qfark Iersy sfravem fuw &-
Tl FIAT bl TSIOIH | IHF T9  dl 3997 F F 1 T80

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax d. Jut

T 81 T AT Yo aw 7 {3 Ieurs T2 22
T 9 bl FAET ¢l AT dI e

Q9. Which one is not a non-conventional source of Energy?

a. Coal b. Solar energy c. Wind Energy d. Tidal Energy
T O FIF T TSI HT UF IR-TEAF HT TH1 22
T bl A FHAT ¢l 799 T dI AT S50

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns . Rfffineries d. Textile Industries

757 101 FT9 AT UF AT TETIT FT FTET T2 22
T FOS FTE AN fE A ol e g wET 3=En

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke Fogfil Fuel
T 111 THT WEIOT T T FTLT KT AT 22

Tl g ST TH AT el AT dI SHETed S
Q12. Which of the following disease is ng caused by Noise Pollution?

a. Hearing Impairment . Mcreased Heart Rate  c. Blood Pressure d. Jaundice
Q121 {751 ® & #1= AT TA7 9% T F FIE0T AH 22

T A9 F A7) & Fit 77 97 qET o) =2 g7 d) e

Q13. Which of the following is not provided by forest?

a. edicines b. Food grains c. Wood d. Gum



b. w131 FHTEad § § F9 90 17 T8 981 697 A1aT 22
c. WIEATT bl @TEATH cl dF3T 4l TH

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake Vd
b. w7 14\ FwferfEa & & F19 a1 arr 7t #7 =Ha T8 82
c. T AR T A4T cl e dI aree

Q 15. The life supporting sphere is:
Lithosphere b. Hydrosphere c. Atmosphere d. Biosphere

b. Q 15. &= T AHAT FA ATAT A4 &
c. U rEhaT b FEHEESA ol ATTHSA ) FrTEwT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon itrogen d. Hydrogen

b. W 161 AT 9d F Tde B % (o0 T § & &I #4779 e 22

c. U FET TEAFAES S FARFARFRET ¢l ATsere dl grEgre

Q17. On which day World Environment Day is celebrated evegf year?
a. 11" July b. 10" Dec ® June d. 5th July

b. W 17\ g matawor fGEs g7 a1 e & g smar 22
c. W1 FATE bl 10 FEaw c 557 5 ETE

Q18. When and where “Earth Summit” was held?
a. Tokyo, 1972 b. Stockholm, 1978 c¢. Rio de Janeiro, 1992 ew

Delhi, 2002

b. ¥ 181 And A AW 'Fd AT Fgl ATFTTIG AT TAT?
c. W T, 1972 #f wEiwagwm, 1978 #i frar f swfar, 1992 Fh AE fawsft, 2002

Q19. Which of the gases does not have any contribution thouse effect’?

a. Nitrogen b. Carbon Dioxide ethane d. Chlorofluorocarbons

b. 0191 Fi=grsa waTa § FF 9 #1 FE TrE= 920 22
c. Ul ATE2ra" bl FTE9 STEAtFATES 1 €199 dI F=r

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c¢. Hydrogen d. Sulphur Dioxide

b. w27 201 FHfeiET § & Frsr svarr ot Fifs 79 F oo G smar g
c. Tl FAEIT =T AAMAT ol RS e TTTAFATES

Q21. Which of the following is used to measure nggke pollution?
A. Meter b. Gauge %;ibel d. Megawatt

w7 211 gaf= gguer w1 7o F o FwfEtag § & G s G smar ge
A. #ew @A =@ EFEEd d EEmEre

Q22. In which year National Environment Policy was announced in our country?
a. 1986 992 c. 2001 d. 2006

b. W 22| TATY 39T A (37 9 TP TG A T =TT it T8 472
c. T 1986 T 1992 #T1 2001 di 2006

Q23. In which year National Air Quality [gdexlAQI) was launched in our country?
a. 2001 b. 2011 c. 2014 d. 2015

b. 0231 T 397 § TP AT oA =51+ (2Q1) e 3w o= Frar a2
c. ™ 2001 112011 #2014 412015

Q24. In which year Environment Protection Act was enacted?
a. 1956 b. 1986 c. 2010 %5

b. Q24| TATFTY HTAW FtatA=ad FFm a7 § &1 B 14T 412
c. T 1956 11 1986 #2010 4l 2015

Q25. Air pollution affects which system of human body the most?
Digestive System  b. Respiratory System  c. Nervous System . Reproductive System Q251
Q.25 317 TFu AT o7 Fr B yorreft Fr warta war 22
T 9T=F G bl =9 YOTAT A AEET AT d) T et

d.

Kanchan kumari
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S e m 6 GURU NANAK COLLEGE, DHANBAD
Department of Economics
ro I I n O 1 3 2 Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory

Choose the correct answer

a. Renewable . Non-renewable c. Biotic d. Flow

Q1. Which one of the followingy of resource are minerals?

o1 =t & & 19 |7 5arae @ = 22
Tl FFT §| e-AdEetE Jh SE@Ew da9g

Q2. Solar energy can be put in which category?
a. Replenishable b. Human Made %biotic d. None of the above
b. Q21 F1T HaAT & & #off § T@&r o1 Fha1 52
c. Tl Replenishable | #Hg AT o1 vfagifes & sma g #E ff 780

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Over Irrigation b. Mining c. Deforestation d. Overgrazing
b. Q3| FTEE # GfH 9 1 &= FTE?
c. T HETEfEeE A AT T FT5 Al TS

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% c. 33% d. 30%
Q4| SITH F = ZATT S/ &1 Paerd FFra=r gAT ATRT?
a.22.5% bl 31% 3% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?

3 a. ﬁnjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh
7 51 H ¥ 5 757 § =T FEE 9 & ae F oo SeEw g 2

TIUSTE bl FRATT ¢l IAT AL dI H8T W29

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c¢. Fauna d. Fisheries

06| st # & #19 |71 v SfaT o= 781 g2



| AT blﬂ'{%‘l HEETIRIEE]

Q7. The most abundantly available fossil fuel is-

a. Coal b. Petroleum c. Natural Gas d. None of the above
T 7| qI9 ATEF IUAs SArarew g 2-
Ul FEAT bl T2 TFAE Tl = T F:E oft 98

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax d. Jute

=T 81 FIT AT YT ad F7 {3 Ieama 781 82
Tl S9E bl FEA ¢l A dI 2

Qo. Vone is not a non-conventional source of Energy?
. Coal b. Solar energy c. Wind Energy d. Tidal Energy

T5T 91 FIF AT Fu11 HT U I-TAF &I T81 872
Tl HISAT bl A FAT ¢l T99 Sl dl AT Feft

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Textile Industries
7 101 FTF |7 UF a1 T T g2
T| FR @ &7 52 AT 2 FIET IANT

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke d. Fossil Fuel

wor 111 T TUF FIE0T &I AT 2
Tl g g TH AT el gAT dI SsiETeR Tu

Q12. Which of the following disease is not caused by Noise Pollution?

a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice
Q121 f3% 7 | &7 AT TRT 911X TgUT F FIT A5l &2
T I A R T T I I cl s T

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c. Wood ¢um



b. 71 13| FafeEd & ¥ #i9 sivre g 9@ 981 i smar g2
c. W EEATE bl @& cl dF:T dl T

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d. Pond

b. 7 14| Fwferfea & & #1791 gt 91 &1 Jid 78i g2
c. T AR T 741 cl e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c. Atmosphere d. Biosphere

b. Q 15. &7 & qHIH FA ATAT S(1a &
c. T foraefaT bl SEHER ¢l ATgHEA AERT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 16| A 97 & ga« g % oo Feferfea § & #9190 i Sreaer 22
c. T FET TEAFAEE c| AT dI gTEg e

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5™ June d. 5th July

b. w171 fFa wata fRagg e & T Sar 82
c. W FATE bl 10 RTHIT NS IA <11 5 =12

Q18. When and where ‘Earth Summit’ was held?
a. Tokyo, 1972 b. Stockholm, 1978 %d@ Janeiro, 1992 d. New
Delhi,2002

b. 97 181 and ¥ |4z 'Fa 3T gl Ao fFar =2
c. W, 1972 &1 w=iwem, 1978 =1 foar v sfaar, 1992 @ =2 fiwsft, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons
b. 0191 F=gTrsa wa1a # e 7 7 GELIEE:
c. T ATESS bl FTET STEAFATES I dl FART

Q20. Which of the following is used to purify water?



%h]orine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w7 201 Faferfera & & fraesr soaer ol #1 9F F2 F oo ey sar g
c. Tl FALIT &7 AHIAT cl RSO ST Foh SR

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge c. Decibel d. Megawatt

w7 211 £afS Jgur foro Feferfaa § & fasr s B smar g
A, Hizr @ T N EREe ) JemETe

Q22. In which year National Environment Policy was announced ingour country?
a. 1986 b. 1992 c. 2001 006

b. W 221 AT 391 § G av g aataor Aifa £ = §i € off2
c. T 1986 =1 1992 #T1 2001 41 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 c. 2014 d. 2015

b. Q23| HTL 29 § TP A1 qurE<T A1 (201) T a o= fam aram a2
c. W 2001 112011 112014 412015

Q24. In which year Environmgfit Protection Act was enacted?
a. 1956 . 1986 c. 2010 d. 2015

b. Q24| wataer g Ffafaas B b § ary BT = ar2
c. T 1956 11 1986 11 2010 41 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c¢. Nervous System  d. Reproductive System 0251

Q.25 37 g orfie Y 3R sorTeft v AT et 82
| qT= g b gurtelt  HT dEET A Q) e yorTett

a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory
Choose the correct answer
Q1. Which one of the following type of resource are minerals?
a. Renewable b. Non-renewable c. Biotic d. Flow

o1 Aot & & = |7 "97em @b g2
T AT | A w00 || 9w dl 98

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made c. Abiotic d. None of the above
b. Q21 T HAAT & e Foff § T&T ST TehclT 82
c. Tl Replenishable S AW Affa ot ufaafes & a0 F % oft 78t

Q3. What is the main cause of Land Degradation in Jharkhand?

a. Owver Irrigation b. Mining c. Deforestation d. Overgrazing
b. 031 \@EE | A ZTH T q&T FHTL0T T 32
c. Tl SET TRAE AT g_ # aqt i Fers dl ;s

Q4. What Percentage of our land should be under forest?

a.22.5% b. 31% c. 33% d. 30%

Q4| SRTA & 1= gATET I F7 wiaerd Fhaar gaT A2
a.225% bl 31% #H133% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d. Madhya Pradesh

7 5| Rafefaa & & e w7 7 = = e & swie o Seaer a8t g2
T 9T bl ERATAT ¢l SAT IR dl LT T4

Q6. Which of the following is not a biotic resource?
a. Flora b. Rocks c. Fauna d. Fisheries

06| Feferfad & & 19 |7 Us Sfas 674 951 52



T FART bl FgT= & BET T FAT I

Q7. The most abundantly available fossil fuel is-
a. Coal b. Petroleum c¢. Natural Gas d. None of the above

F 7| HEH ATIF ITASH SATIH 24 B-
T HAAT bl YSHTH || ITHRGE T dl TA9 T Fire off 781

Q8. Which one is not a bi product of petroleum?
a. Diesel b. Kerosene c. Wax d. Jute

T=T 81 I AT Y Iorad &7 3 I7ITe 78l 82
Tl A bl FAEA ¢l FH dI &

Q9. Which one is not a non-conventional source of Energy?
a. Coal b. Solar energy c. Wind Energy d. Tidal Energy

T5F Q1 I T SoTT T U AL-ITAT ST A8l g2
T HFTAT bl FXFAT ¢l T99 ST dI SarT Fol0

Q10. Which one is not a cause of Air Pollution?

a. Paper factories b. Brick Kilns c. Refineries d. Textile Industries

=7 101 T T T AT TEUU AT FHILT T51 52
T FOTS FEET A1l Se Agl ol RwrEadst 1 #9139

Q11. Which one is a cause of Thermal pollution?

a. Dust b. Hot water c. Smoke d. Fossil Fuel

ToF 111 THA TZHT T T FHILIT Kl 4T 82
T g AT TH AT el e dI Srared e

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure d. Jaundice

0121 7% § & FI7 &7 T 97T TG & HIL0 Tl § 2
T| 90T 29 &1 &t it 2T 98 AT el =g Y97 d) e

Q13. Which of the following is not provided by forest?

a. Medicines b. Food grains c¢. Wood d. Gum



b. W 13| FRuferfag & & ®9 S g7 yam 981 B smar g2
c. T EAU bl GETA cl dFst dI T8

Q14. Which of the following is not a source of Fresh water?
a. Sea b. River c. Lake d. Pond

b. w1 14| f=forfaa & & 19 97 q1o7 911 7 50q T8 52
c. AR T\ 740 cl e dI e

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere c¢. Atmosphere d. Biosphere

b. Q 15. & FT GHAT FIA ATAT A &
c. Ul AT bl TAEeA ol ATgHEA dI STerewsT

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide b. Chlorofluorocarbon c. Nitrogen d. Hydrogen

b. T 161 ST 92d & Tdo g & forg Faferfad & & #i9 #f | ‘e g2
c. T FEA STEAFETEE ATl FAUFATLERET ¢l AT dl gregre

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10" Dec c. 5" June d. 5th July

b. T 17 frsg watawer faaw gv are r fo aamar Srar g2
c. T AE bl 10 GFHaw c.57F =N 5 JaTs

Q18. When and where ‘Earth Summit’ was held?

a. Tokyo, 1972 b. Stockholm, 1978 c. Rio de Janeiro, 1992 d. New
Delhi,2002

b. I 181 And 1 TH e 3T gt Arariora Ay e
c. W, 1972 ff w=iwgm, 1978 @ far ST, 1992 < wE fawstt, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?

a. Nitrogen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 TAETSH TATT § e 9 &7 FIS A A5l §2
c. T ATEEST bl T STgaAtFd Tz 7 #1997 dI F=ar

Q20. Which of the following is used to purify water?



a. Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. w21 201 fRferfaa & & et ST art i1 95 F * for frar smar g2
c. T FARE & AHIAAT ¢l grESeA 3| Jo% STEAiaTEe

Q21. Which of the following is used to measure noise pollution?

A. Meter b. Gauge c. Decibel d. Megawatt

51 211 &at Jgur & 7T+ o forw Mefortea § & et ot o srar g2
A, Wex dM s @ REa 4 wemEE

Q22. In which year National Environment Policy was announced in our country?

a. 1986 b. 1992 c. 2001 d. 2006

b. T 221 0T 397 § Fohe a g wrtareor Hifa it =roor it 7 oft 2
c. T 1986 & 1992 #TI 2001 dl 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?

a. 2001 b. 2011 c. 2014 d. 2015

b. 0231 ZHTE Z97 | TP AT UET TAHIF (AQT) e I & fohaT T 92
c. T 2001 112011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?

a. 1956 b. 1986 c. 2010 d. 2015

b. Q24| waiaxey g0 stafaaw o v § ary o e
c. T 1956 11 1986 #T1 2010 dI 2015

Q25. Air pollution affects which system of human body the most?

Digestive System  b. Respiratory System  c. Nervous System  d. Reproductive System Q25
Q.25 AT TEU AT 07 FiT T TOTTett i Torferd Fdr g2
T I a7 bl T0qT IOt # REFTa= d1 o= yorrett
a.
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GURU NANAK COLLEGE, DHANBAD
Department of Economics
Mid-Semester Internal Examination: 2020
Semester-VI CC: XIV-Environmental Economics
Time: 45 minutes
All questions are compulsory

Choose the correct answer

Q1. Which one of the following typgof resource are minerals?
a. Renewable %-on-renewable c. Biotic d. Flow

o1 Fraferfe & & aiw v wwe afas 82
WIEC e R (e pieavip i | el

Q2. Solar energy can be put in which category?

a. Replenishable b. Human Made “ Abiotic d. None of the above
b. Q20 ®IT oAt &1 ey Aoft & T&r 1 7t 82
c. Tl Replenishable N\ fAffa #ff ufarnfes & zaw & wir o 75

a. Over Irrigation ” Mining c¢. Deforestation d. Overgrazing
b. Q3| FATTET H S FTA T =T FTI0T F4T 82
c. maETsfaeE @ e f o st frwer q =

Q3. What is the main cause of Lamyradation in Jharkhand?

Q4. What Percentage of our land should be under fores
3%

a.22.5% b. 31% d. 30%

Q4| ST & A= AT SIFH F7 wiaera e g a2
a.22.5% bl 31% 11 33% dl30%

Q5. In which of the following states Over Irrigation is not responsible for Land Degradation?
a. Punjab b. Haryana c. Uttar Pradesh d gMadhya Pradesh

71 5| faferfea & 7 G oo # =g =g afw & srire & oo S 787 82
TIOSTE bl gRATIT ¢l SHT TE9T dI WET T29T

Q6. Which of the following is not a biotic resource?
a. Flora b #Kocks ¢. Fauna d. Fisheries

061 fAaferfea § & #i= =7 v S qara 981 22

Name - sonu kr Sharma
Roll no- 389
Uni roll no- 341



T| WART bl FETET H| BEAT AT AT

Q7. The most abundantly available fossil fuel is-
agfoal b. Petroleum c. Natural Gas d. None of the above

F 7| FAH ATUF TTAH STATIH T4 8-
T FAAT bl GErfermy # wEEE ol e A wre oft adt

Q8. Which one is not a bi product of petroleum?

a. Diesel b. Kerosene c. Wax Vute

o7 81 FIT AT Y2 TTraH 7 {3 Ieurs T8 22
T ST bl FIEF ol AW dI e

Q9. Which one is not a non-conventional source of Energy?
agloal b. Solar energy c. Wind Energy d. Tidal Energy

T O I AT HoAT FT U A7-q199fvF &Hra 721 22
T FTAT bl AT FAT ¢l T99 FAT  dl AT FoAT

Q10. Which one is not a cause of Air Pollution?
a. Paper factories b. Brick Kilns c. Refineries ¢ extile Industries

927 101 I AT U AT T HT FTCT T21 272
U FES FeEr q e wet ol Ferads e 3=

Q11. Which one is a cause of Thermal pollution?

a. Dust . ot water c. Smoke d. Fossil Fuel

w57 111 JHT TZIOT T T FTLT K AT 22
T g AN T AT ol gar di sfrarew fue

Q12. Which of the following disease is not caused by Noise Pollution?
a. Hearing Impairment b. Increased Heart Rate  c. Blood Pressure w.]aundice

Q121 75 ® & &= AT TN 91T TEA F FTI07 T2 82
T 9 T A7) EE FF 3 9% T o) 592 g7 d) fifemr

Q13. Which of the following is not provided by forest?

a. Medicines b gFood grains c. Wood d. Gum



b. W 13| FafeafEs & & Fi s greT vem T8 Gy s g2
c. T EATT bl GTATT cl FFST dI TH

Q14. Which of the following is not a source of Fresh water?

¢ Sea b. River c. Lake d. Pond
b. 7 14 st & & #9 a7 qrer Ot #7 5T @5 82
c. T AW T 74t cl=He 4l arenT

Q 15. The life supporting sphere is:
a. Lithosphere b. Hydrosphere ¢. Atmosphere %Biosphere

b. Q 15. 8 FT qHLT FIA AT S(raT 2
c. U orIefAT bl FTEHEA ol ATHEA d| FrATERd

Q16. Which of the following gases is responsible for thinning of ozone layer?

a. Carbon Dioxide %hlomﬂuorocarbon c. Nitrogen d. Hydrogen
b. T 16| ST T % Ta g1 % forw et & & i o1 i Jream 22
c. Tl FHTET TTEAFATET A1) FAFATRET ol ATZers dl grasrsrT

Q17. On which day World Environment Day is celebrated every year?
a. 11" July b. 10™ Dec \?.’S“‘ June d. 5th July

b. W 17\ FEreg wataor ffEwm 27 "re G B aamar smar 22
c. U1 FATE bl 10 BFHaw c.557F =5 TATE

Q18. When and where ‘Earth Summit” was held?

a. Tokyo, 1972 b. Stockholm, 1978 Wio de Janeiro, 1992 d. New
Delhi,2002

b. T 181 And #F AHT ' 3T gl AaTira =541 T4T2
c. marEr, 1972 =t w=iwgm, 1978 i for St s=fon, 1992 < AE R, 2002

Q19. Which of the gases does not have any contribution to ‘Greenhouse effect’?
a. WOgen b. Carbon Dioxide c. Methane d. Chlorofluorocarbons

b. 0191 Fragrsa w9 # T 77 *7 1 TrraT 721 22
c. T ATEEAT bl FTE9 STSAFATES o7 9T dI F040

Q20. Which of the following is used to purify water?



V Chlorine b. Ammonia c. Hydrogen d. Sulphur Dioxide

b. WoT 201 FHRTET F & BT ITART 9 #7903 F F o7 (3647 Jrar 22
c. T FAT ST FAMAT ol grEge 21 9% STEAtFET

Q21. Which of the following is used to measure noise pollution?
A. Meter b. Gauge wecibel d. Megawatt

w7 211 At wgwor Fr "/ ¥ o et 7 @ Frerewr s B s e
A. #Hrer dnas #n e q wemETe

Q22. In which year National Environment Policy was announced in our country?
a. 1986 b. 1992 c. 2001 6/2006

b. W 22\ ZATE 297 § B 3 wrgiy wataeor |t v s i T off
c. T 1986 = 1992 71 2001 dI 2006

Q23. In which year National Air Quality Index (AQI) was launched in our country?
a. 2001 b. 2011 V./2014 d. 2015

b. 23| gHTT FoT F T AT o= %1% (AQ1) B A o= 3 o ame
c. ™ 2001 #2011 #2014 41 2015

Q24. In which year Environment Protection Act was enacted?
a. 1956 Vf986 ¢. 2010 d. 2015

b. Q24| watave Hveror wfafaaw FF ) § @ Frr @ aro
c. T 1956 11 1986 #T12010 di 2015

Q25. Air pollution affects which system of human body the most?

Digestive System ¢Respiratory System  c¢. Nervous System  d. Reproductive System Q251
Q.25 7T TEIOT {4 97 it T TOrreft #° wArtAT AT g2
T 1= bl J97 gorrert # g63Er = d) I yorreft

a.
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